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Q1) a) Fill in the blanks. (Any 5) [5]

i) An Agreement is ________.

(Offer, Offer + Acceptance, Contract)

ii) ______ is not a feature of partnership business.

(Eligible person, limited liability, profit sharing)

iii) When was the sale of Goods Act came in to force.

(1 July 1922, 1 July 1912, 1 July 1930)

iv) The mediator can appoint _______.

(An expert, A member, An agent)

v) When consent is obtained _______, it is considered tree consent.

(Sincerely, Coecion, Fraud)

vi) The Termination of partnership firm means _________.

(Dissolution of partnership, Formation of business, Modification
of business)
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B) Match the following. [5]

‘A’ Group ‘B’ Group

i) Adult person a) 1 october 1932

ii) Indian partnership Act b) Domestic court

iii) Goods present at the time of c) Completed 18 years of age

sale

iv) Arbitration d) Active partner

v) Participation in management e) Present object

Q2) Explain the Characteristics of a consideration by stating what is consideration
is? [15]

Q3) Explain the rights and duties of partners by stating what is a partnership.[15]

Q4) Explain the conditions and warranties of sale of goods contract. [15]

Q5) What is an Arbitration? Explain the powers and duties of an arbitrator. [15]

Q6) Write notes. (Any 03) [15]

a) Void Contract

b) Advantages of a limited liability  partner

c) Agreement to sale

d) Conciliation proceeding

e) Transfer of ownership


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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr 5) [5]
i) R>amd åhUOo ...................

(àñVmd, àñVmd + ñdrH¥$Vr, H$ama)
ii) ............. ho ^mJrXmar ì¶dgm¶mMo d¡{eîQ>²¶ Zmhr.

(nmÌ ì¶º$s, ‘¶m©{XV O~m~Xmar, Z’$m {d^mJUr)
iii) ‘mb {dH«$s H$m¶Xm H$Yr bmJy H$aÊ¶mV Ambm?

(1 Owb¡ 1922, 1 Owb¡ 1912, 1 Owb¡ 1930)
iv) ‘Ü¶ñWmbm ................ {Z¶wº$s H$aVm ¶oVo.

(VkmMr, gXñ¶mMr, à{V{ZYrMr)
v) O§oìhm g§‘Vr ..................... {‘i{dbr Agob Va Vr ‘wº$ g§‘Vr g‘Obr OmVo.

(àm‘m{UH$nUo, YmH$mZo/ ~bà¶moJmZo, ’$gdUyH$sZo)
vi) ^mJrXmar g§ñWoMo {dgO©Z åhUOo .................... hmo¶.

(^mJrXmar g‘már, ZdrZ ì¶dgm¶, ì¶dgm¶mV ~Xb)

~) ¶mo½¶ OmoS>²¶m bmdm. [5]
‘A’ JQ> ‘~’ JQ>

i) gkmZ ì¶º$s A) 1 Am°³Q>mo~a 1932
ii) ^maVr¶ ^mJrXmar H$m¶Xm ~) KaJwVr Ý¶m¶mb¶
iii) {dH«$sÀ¶m doir dñVy ApñVËdmV H$) d¶mMr 18 df} nyU©
iv) ‘Ü¶ñWr S>) {H«$¶merb ^mJrXma
v) ì¶dñWmnZmV gh^mJ B) dV©‘mZ dñVy
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à.à.à.à.à.2) à{V’$b åhUOo H$m¶ Vo gm§JyZ à{V’$bmMr d¡{eï>²¶o ñnï> H$am. [15]

à.à.à.à.à.3) ^mJrXmar åhUOo H$m¶ Vo gm§JyZ ^mJrXmam§Mo h¸$ Am{U H$V©ì¶o ñnï> H$am. [15]

à.à.à.à.à.4) ‘mb{dH«$s H$amamÀ¶m à‘wI Am{U Xþæ¶‘ AQ>r ñnï> H$am. [15]

à.à.à.à.à.5) bdmX {ZU©¶ åhUOo H$m¶ Vo gm§JyZ bdmXmMo A{YH$ma Am{U H$V©ì¶o ñnï> H$am. [15]

à.à.à.à.à.6) Q>rn {bhm. (H$moUVohr 3) [15]
A) ì¶W© H$ama
~) ‘¶m©{XV O~m~Xmar ^mJrXmarMo ’$m¶Xo
H$) ‘mb{dH«$sMm R>amd
S>) g‘PmoVm H$m¶©nÕVr
B) ‘mbH$s h¸$m§Mo hñVm§VaU





Q1) A) Fill in the blanks (Any five) : [5]

i) ________ is a financial statement which summarizes the sources
and applications of funds of enterprises for a given period.

a) Fund Flow Statement

b) Trading Account

c) Profit and Loss Account

d) Balance Sheet

ii) AS-19 deals with __________.

a) Leases b) Government Grants

c) C.F.S. d) F.F.S.

iii) Purchase of securities on Ex-interest basis means the price
_________ interest.

a) Includes b) Excludes

c) Adds d) Outstanding

iv) Interest and brokerage are to be calculated on ________ of
investments.

a) Interest b) Face value

c) Cost d) Market value

Total No. of Questions : 4]
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v) In the Balance sheet of a Banking company, investment in Silver
is shown on the asset side under the heading ________.

a) Advances b) Other asset

c) Operating expenses d) Investment

vi) The primary objective of ________ is to eliminate the
accumulated losses from the books and to bring down the assets
to their true values.

a) External Reconstruction b) Internal Reconstruction

c) Amalgamation d) Absorption

vii) Every Banking company prepares a Balance sheet and Profit and
Loss Account as on ________ each year.

a) 30th June b) 31st December

c) 31st March d) 1st January

B) True or False (Any five) : [5]

i) Accounting Standards in India are issued by the Institute of Cost
Accountants of India.

ii) As per AS-3 deals with Cash Flow Statements.

iii) The conversion of a Debt to Equity is a non—cash transaction.

iv) Bonus shares are issued to creditors.

v) Debentures are commonly known as preferred stocks.

vi) An asset becomes non-performing when it ceases to generate
income for a Bank.

vii) Banking Companies in India are governed by Company Act 2013

C) Match the following : [5]

i) IFRS a) ASB

ii) AS-12 b) Investments

iii) Gold c) Internal Reconstruction

iv) Accounting Standards in India d) Government Grants

v) Capital restructuring e) IASB
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D) Short Notes (Any three out of Five) : [15]
i) Cum Interest and Ex Interest under Investment Accounting

ii) Cash Flow Statement

iii) Need of Internal Reconstruction

iv) Contingent Liability

v) AS-19

Q2) The following is the Balance Sheet of Ayudeeps Ltd. Chennai as on
3lst March, 2023 [20]

Balance Sheet as on 31st March, 2023

Liabilities ` Assets `

Share Capital Goodwill 20,000

• 25,000 Preference 2,50,000 Leasehold Premises 1,07,000

Shares of ` 10 each Plant and Machinery 60,000

• 25,000 Equity 2,50,000 Patent 1,73,900

Shares of ` 10 each Preliminary Expenses 2,000

Sundry Creditors 40,000 Stock 34,000

Bank Overdraft 36,000 Sundry Debtors 56,000

Cash 100

Profit and Loss 1,23,000

Total 5,76,000 5,76,000

The company proved unsuccessful and resolutions were passed to carry out
the following scheme of reduction of capital -

a) Preference Shares be reduced to fully paid shares of ` 3 each.

b) Equity Shares be reduced to fully paid shares of ` 2.50 each

c) Sundry Creditors total claims be reduced by ` 15,000

d) Goodwill Account, Patents, Preliminary Expenses, and Profit and Loss
Account to be completely written off.

e) Leasehold Premises to be written off by ` 27,000.

f) Stock to be written-off by ` 14,000.

g) ` 5,600 is to be reserved for doubtful debts.

h) Plant and Machinery to be written off by 20%

Pass the necessary journal entries, prepare the Capital Reduction Account
and the revised Balance Sheet as on 31st March 2023.
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Q3) Following is the Trial Balance of Deepa Bank Ltd., Nasik as on 3lst March,
2023. [20]

Trial Balance as on 31st March, 2023.
Particulars Debit Credit

` `
Premises Less Depreciation 1,85,000 -
Money at Call and Short Notice 2,15,000 -
Furniture Less Depreciation 30,000 -
Depreciation on Bank’s Assets 11,000 -
Non-Banking Assets Acquired in Settlement
of Claims 20,000 -
Cash in Hand 3,00,000 -
Cash at Banks 2,50,000 -
Investments 3,50,000 -
Loans, Cash Credit and Overdrafts 12,65,000 -
Interest on Deposits and Borrowings 2,00,000 -
Audit Fees 4,500 -
Salaries and Allowances to Staff 40,500 -
Director’s Fees 4,000 -
Postage and Telegrams 1,350 -
Printing and Stationery 3,700 -
Other Expenditure 2,450 -
Interest and Discount - 3,67,500
Share Capital :
Authorized: 7,500 Equity Shares of ` 100 each - -
Issued and Subscribed 6,000 Equity Shares
of ` 100 each fully paid - 6,00,000
Statutory Reserve - 1,20,000
Deposits - 12,50,000
Provident Funds - 1,35,000
Borrowings from Maharaja Bank Ltd - 2,55,000
Unclaimed Dividend. - 4,000
Commission and Exchange - 37,500
Profit on Sale of Non-Banking Assets - 1,200
Profit and Loss Account as on 1st April 2022 - 1,12,300
Total 28,82,500 28,82,500
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Adjustments :

i) Provide ` 10,000 for Bad and Doubtful Debts.

ii) Acceptances, Endorsements and Other obligations amounted to
` 52,000.

iii) Provide ` 1,500 for Rebate on Bills discounted.

iv) Provide ` 10,500 for taxation.

v) Postage stamps of ` 160 and Stationery of ` 700 were in hand on
3lst March, 2023.

vi) Transfer 25% of the current year’s profit to statutory reserve.

Prepare Profit and Loss Account for the year ended 31st March 2023 and
the Balance Sheet as on that date as per the Banking Regulation Act, 1949.

Q4) Mansvi Investors Company Ltd, Nashik submits the following details
regarding their investment in 6% Debentures for the year 2022-23. [20]

Opening balance on 1st April 2022, face value Rs. 3,00,000/- at Rs. 2,80,000/
-. The following purchases and sales were made out of these investments
during the year ended 31st March 2023.

Purchases :

a) 1st August 2022 Face value Rs. 50,000/- at Rs. 101 cum interest.

b) 1st November 2022 Face value Rs. 75,000/- at Rs. 103 ex interest.

Sales :

a) 1st September 2022 Face value Rs. 50,000/- at Rs. 104 cum interest.

b) lst February 2023 Face value Rs. 1,00,000/- at Rs. 103 ex interest. The
interest is payable on lst January and 1st July every year.

Write up Investment Account as on 31st March 2023. Investments on
31st March 2023 are to be valued at cost as per First-in First out method.





Q1) A) Fill in the blanks (Any Five) : [5]
i) ______ is the feature of Indian Economy.

a) Low per capita income
b) Mass poverty
c) High dependence of population on agriculture
d) All of the above

ii) Disguised unemployment exists primarily in the ______ sector in
India.
a) Service b) Foreign
c) Agriculture d) Industrial

iii) _______ is the apex body for providing finance to agriculture and
rural development in India.
a) R.B.I. b) SEBI
c) SBI d) NABARD

iv) _____ scheme was launched to financing SC, ST and women
entrepreneurs.
a) Start-up India b) Make in India
c) Stand up India d) None of the above

v) Any organisation working under government ownership and control
is called _________.
a) Public sector b) Private sector
c) Petty sector d) Service sector

Total No. of Questions : 6]
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vi) _____ sector does not comes under the service sector in India.
a) Real Estate b) Transport
c) Restaurants & Hotels d) Mobile production

B) Match the following : [5]
      Group A        Group B

i) New Industrial Policy a) Wheat production
ii) Start UP India b) Service sector
iii) Green Revolution c) 2014
iv) Education d) 1991
v) Make in India e) 2016

Q2) State the meaning of Economic Development. Explain its indicators. [15]

Q3) Explain causes of low productivity of Indian agriculture and suggest measures
to increase productivity. [15]

Q4) Explain the role of micro, Small and medium enterprises in Indian Economy.[15]

Q5) Describe the importance and growth of service sector in India. [15]

Q6) Write shorts notes (Any three) : [15]
a) Physical Quality of Life Index (PQLI)
b) Agricultural Credit
c) Public Sector
d) E - commerce
e) E - finance


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]
i) .......... ho ^maVr` AW©ì`dñWoMo d¡{eï>ç Amho.

A) H$_r XaS>moB© CËnÝZ
~) _moR>çm à_mUmV Jar~r
H$) eoVrdarb bmoH$g§» òMo OmñV Adb§{~Ëd
S>) darb gd©

ii) àÀN>ÝZ ~oamoOJmar àm_w»`mZo ^maVmVrb ............ joÌmV ApñVËdmV Amho.
A) godm ~) {dXoer
H$) eoVr S>) Am¡Úmo{JH$

iii) ................ hr ^maVmVrb H¥$fr Am{U J«m{_U {dH$mgmgmR>r {dÎmnwadR>m H$aUmar
gdm}ƒ g§ñWm Amho.
A) Ama.~r.Am`. ~) go~r
H$) Eg.~r.Am`. S>) Zm~mS>©

iv) .......... `moOZm Eggr, EgQ>r Am{U _hrbm CÚmoOH$m§Zm {dÎmnwadR>m H$aÊ`mgmR>r
gwê$ H$aÊ`mV Ambr.
A) ñQ>mQ>©-An B§{S>`m ~) _oH$ BZ B§{S>`m
H$) ñQ>±S> An B§{S>`m S>) darbn¡H$s Zmhr

v) gaH$mar _mbH$s Am{U {Z §̀ÌUmImbr H$m_ H$aUmè`m H$moUË`mhr g§ñWobm ...........
åhUVmV.
A) gmd©O{ZH$ joÌ ~) ImOJr joÌ
H$) Jm¡U joÌ S>) godm joÌ

3 P.T.O.
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vi) .................. joÌ ho ^maVmV godm joÌm§VJ©V òV Zmhr.
A) ñWmda _mb_Îmm ({_iH$V) joÌ ~) dmhVyH$
H$) hm°Q>oëg Am{U aoñQ>m°a§Q²>g S>) _mo~mB©b CËnmXZ

~) Imbrb OmoS>çm Owidm. [5]
  "A' JQ>             "~' JQ>

i) ZdrZ Am¡Úmo{JH$ YmoaU A) Jhÿ CËnmXZ
ii) ñQ>mQ>©-An-B§{S>`m> ~) godm joÌ
iii) harV H«$m§Vr H$) 2014
iv) {ejU S>) 1991
v) _oH$-BZ-B§{S>`m B) 2016

àíZ àíZ àíZ àíZ àíZ 2) Am{W©H$ {dH$mgmMm AW© gm§Jm. Ë`mMo {ZX}eH$ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) ^maVmVrb eoVrÀ`m Aën CËnmXH$VoMr H$maUo ñnï> H$am. Am{U eoVrMr CËnmXH$Vm dmT>{dÊ`mgmR>r
Cnm` gwMdm. [15]

àíZ àíZ àíZ àíZ àíZ 4) ^maVr` AW©ì`dñWoVrb gwú_, bKw, Am{U _Ü`_ CÚmoJm§Mr ŷ{_H$m ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) ^maVmVrb godm joÌmMo _hËd Am{U dmT> `m§Mo dU©Z H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUË`mhr VrZ) [15]
A) ^m¡{VH$ OrdZ JwUdÎmm {ZX}em§H$
~) H¥$fr H$O©
H$) gmd©O{ZH$ joÌ
S>) B© - H$m°_g©
B) B© - {dÎm


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Q1) A) Fill in the blanks: (Any 5) [5×1=5]
i) Trade between two countries is known as ________

a) Internal trade b) Local trade
c) International trade d) Interrigional trade

ii) According to the Hecksher ohlin theory, A Country with abundant
capital should exports ______ intensive  goods.
a) Labour b) Capital
c) Capital and labour d) Technology

iii) A_______ seats a numerical limit on how much of product can be
imported in to country.
a) Quota b) Tariff
c) Trade restraint d) Trade limit

iv) ______ Economist is associated with product life cycle theory.
a) Verinon b) Ricardo
c) Malthas d) Adam Smith

v) _____ is a subject matter of International Economics.
a) Balance of Payment
b) Foreign direct investment
c) Foreign exchange market.
d) All of the above

vi) Exports means ______
a) Purchase of goods from other countries
b) Purchase of goods from domestic regions
c) Sale of goods to other countries
d) Sale of goods to domestic regions

P.T.O.
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B) Match the pairs. [5]
Group A Group B

i) Theory of factor endowment a) Tools of protection policy
ii) Ezeala Harrison b) Gross batter terms of Trade
iii) Quota c) Types of price discrimination
iv) Dumping d) New trade theory
v) Terms of trade e) Hecksher ohlin

Q2) Explain the role of International Trade in Economic development. [15]

Q3) What is protection trade policy? Explain the arguments for and against of
protection trade policy? [15]

Q4) Explain the concept and effects of Dumping. [15]

Q5) Explain the causes of unfavorable terms of trade to developing countries.[15]

Q6) Write short nots. (any 3) [15]

a) Scope of international economics.

b) Leontifs paradox.

c) Free trade policy.

d) Quatas

e) Terms of trade


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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© AmhoV.

2) àíZ H«$. 2, 3, 4 Am{U 5 ¶mn¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.
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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) XmoZ Xoem§‘Yrb ì¶mnmamg ............. åhUVmV.

A) A§VJ©V ì¶mnma ~) ñWm{ZH$ ì¶mnma
H$) Am§Vaamï´>r¶ ì¶mnma S>) Am§Va-àmXo{eH$ ì¶mnma

ii) hoH$íMa Amoh{bZÀ¶m {gÕm§VmZwgma ^m§S>db gYZ Xoem§Zr ................ àYmZ dñVw§Mr
{Z¶m©V H$amdr.
A) l‘ ~) ^m§S>db
H$) l‘ Am{U ^m§S>db S>) V§ÌkmZ

iii) EH$m Xoem‘Ü¶o dñVwMr {H$Vr Am¶mV H$amdr ¶m§Mr ‘¶m©Xm {ZpíMV H$aUmam g§»¶mË‘H$ g§M
åhUOo ............. hmo¶.
A) H$moQ>m ~) OH$mV
H$) AZwXmZ S>) ‘¶m©Xm

iv) .......... ¶m AW©VkmMo Zmd dñVw OrdZ MH«$ {gÕm§Vmer g§~§YrV Amho.
A) ìhZ©Z ~) [aH$mS>m}
H$) ‘mëWg S>) A°S>‘ pñ‘W

v) ................. hm Am§Vaamï´>r¶ AW©emñÌmMm Aä¶mg {df¶ Amho.
A) ì¶dhmaVmob ~) naH$s¶ WoQ> J§wVdUyH$
H$) {dXoer {d{Z‘¶ ~mOma S>) darbn¡H$s gd©

vi) {Z¶m©V åhUOo ...............
A) BVa Xoem§H$Sy>Z dñVw§Mr IaoXr ~) Xoem§VJ©V àXoem§VyZ dñVw§Mr IaoXr
H$) BVa Xoem§Zm dñVw§Mr {dH«$s S>) Xoem§VJ©V àXoem§V dñVw§Mr {dH«$s
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~) OmoS>çm bmdm. [5]

JQ> - A JQ> - ~

i) KQ>H$ XoZJr {gÕm§V A) g§a{jV ì¶mnma YmoaUmMo gmYZ

ii) BPobm h°[agZ ~) ñWwb dñVwê$n ì¶mnma eVu

iii) H$moQ>m H$) qH$‘V ôXmMm EH$ àH$ma

iv) Adnw§OZ S>) Z{dZ ì¶mnma {gÕm§V

v) ì¶mnma eVu B) hoH$íMa AmohbrZ

à.à.à.à.à.2) Am{W©H$ {dH$mgmVrb Am§VaamîQ´>r¶ ì¶mnmamMr ŷ{‘H$m ñnï> H$am. [15]

à.à.à.à.à.3) g§a{jV ì¶mnmamMo YmoaU åhUOo H$m¶? g§a{jV ì¶mnma YmoaUmÀ¶m ~mOyZo Am{U {damoYmVrb ¶wº$sdmX
ñnîQ> H$am. [15]

à.à.à.à.à.4) Adnw§OZmMr g§H$ënZm Am{U n[aUm‘ ñnï> H$am. [15]

à.à.à.à.à.5) {dH$g§erb Xoem§Zm ì¶mnmaeVu à{VHw$b AgÊ¶mMr H$maUo ñnï> H$am. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) Am§Vaamï´>r¶ ì¶mnmamMr ì¶már

~) {bAm°ÝQ>r’$ Mm {damoYm^mg

H$) ‘wº$ ì¶mnma YmoaU

S>) H$moQ>m

B) ì¶mnma eVu


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Q1) A) Fill in the blank with the most appropriate alternative (any Five) [5]

i) The first auditor of the government company will be appointed
within_____ days from registration.

(10, 30, 60)

ii) Evaluation is the basis of _______.

(Verification, marketing, certification)

iii) __________ requires a legal audit.

(Sole trader, partnership, Public limited company)

iv) Electronic Data processing is about gathering the data from _______.

(computers, servers, all of the above)

v) As per _________ audit evidence means the collection of important
information for checking of accounting reports.

(AAS-5, AAS-4 AAS-3)

vi) _______ is used to detect criminal behaviour such as fraud or fraud
in the organization.

(Forensic audit, continuous audit, investigation)

P.T.O.
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B) True of False [5]

i) As per the Income Tax Act 1961, agriculture income in India is
exempt to tax.

ii) The auditor can act as an employee of the company.

iii) Tax aduit is compulsory under the section 44AB.

iv) Faulty audit reports are error-free.

v) An audit program is the planning of an audit function.

Q2) Write a short notes (any two) [10]

a) Types of Errors.

b) Types of Audit report

c) Right of company Auditor.

d) EDP application control.

Q3) Answer the following (any 2) [30]

a) Define the term ‘Auditing’. Explain the importance and objectives of its.

b) What is Vouching? Explain the process of a Cash book.

c) Explain the qualification and disqualification of the company auditor.

d) Define the term forensic audit. Explain the importance and services render
by forensic Auditor.


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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) Zm|XUrnmgyZ ............... {Xdgm§V gaH$mar H§$nZrÀ¶m n{hë¶m boImnarjH$mMr Zo‘UyH$
Ho$br OmB©b.

(10, 30, 60)

ii) ‘yë¶m§H$Z hm ............... Mm AmYma Amho.

(nS>VmiUr, {dnUZ, à‘mUZ)

iii) ............ bm H$m¶Xoera boImnarjU Amdí¶H$ Amho.

(EH$b ì¶mnmar, ^mJrXmar, npãbH$ {b{‘Q>oS> H§$nZr)

iv) Bbo³Q´>m°{ZH$ S>oQ>m àmogoqgJ åhUOo ................ H$Sy>Z S>oQ>m Jmoim H$aUo.

(g§JUH$, gìh©a, darb gd©)

v) ...........Zwgma, boImnarjU nwamdm åhUOo boIm Ahdmb VnmgÊ¶mgmR>r ‘hÎdnyU© ‘m{hVr
Jmoim H$aUo.

(EEEg-5, EEEg-4, EEEg-3)

vi) g§ñWo‘Ü¶o ’$gdUyH$ qH$dm A’$amV’$ar gma»¶m JwÝhoJmar dV©Z emoYyZ H$mT>Ê¶mgmR>r
............. Mm dmna Ho$bm OmVmo.

(’$moaopÝgH$ A§Ho$jU, gVV A§Ho$jU, Vnmg)
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~) MyH$ H$s ~amo~a [5]

i) Am¶H$a H$m¶Xm 1961 Zwgma ^maVmVrb H¥$fr CËnÞ H$a‘wº$ Amho.

ii) A§Ho$jH$ H§$nZrMm H$‘©Mmar åhUyZ H$m‘ H$ê$ eH$Vmo.

iii) H$b‘ 44 E~r A§VJ©V Q>°³g Am°{S>Q> ~§YZH$maH$ Amho.

iv) gXmof A§Ho$jU Ahdmb MwH$m{dahrV AgVmo.

v) A§Ho$jU H$m¶©H«$‘ åhUOo A§Ho$jU H$m¶m©Mo {Z¶moOZ hmo¶.

à.à.à.à.à.2) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) MwH$m§Mo àH$ma

~) Am°{S>Q> [anmoQ>©Mo àH$ma

H$) H§$nZr A§Ho$jH$mMo A{YH$ma

S>) B©S>rnr AZwà¶moJ {Z¶§ÌU

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao Úm. (H$moUVohr XmoZ) [30]

A) "A§Ho$jU' ì¶m»¶m Úm. Ë¶mMo ‘hËd Am{U C{Ôï>o ñnï> H$am.

~) à‘mUZ (ìhmCqMJ) åhUOo H$m¶? amoInwñVH$mMr à{H«$¶m ñnï> H$am.

H$) H§$nZr A§Ho$jH$mMr nmÌVm Am{U AnmÌVm ñnï> H$am.

S>) ’$m°aopÝgH$ Am°{S>Q> ì¶m»¶m Úm. ’$m°aopÝgH$ Am°{S>Q>aMo ‘hÎd Am{U ’$m°aopÝgH$ Am°{S>Q>aH$Sy>Z XoÊ¶mV
¶oUmè¶m godm ñnï> H$am.





Q1) A) Fill in the blank with the most appropriate alternative (any Five) :
[5]

i) The word development is linked with ________.

a) Managers b) Workers

c) Supervisors d) All of the above

ii) Training courses typically designed for _________.

a) Short term b) Long term

c) Medium term d) All of these

iii) _________ is the process of managing, training, developing &
evaluating employees.

a) Performance Appraisal b) Motivation

c) Coordination d) Selection

iv) _________ can be defined as process of choosing the right person
for the right job.

a) Selection b) Recruitment

c) Incorporation d) Orientation

v) Human Resource Management is the process of _______.

a) Recruitment and Selection

b) Analysing the skills

c) Manpower utilization

d) None of the above
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vi) HRM is an art of _________.

a) Preparation of a task

b) Coordinating middle level Management

c) Helping top level Management

d) Managing people

B) Match the following : [5]

Column A Column B

i) Career Planning a) External Recruitment Source

ii) Performance Appraisal b) HRM Function

iii) Kaizen 5-S c) Japanese Technique

iv) Coordination d) Graphics Scale Method

v) Interview Method e) Employee Development

Q2) Write a short note (any two) : [10]

a) Functions of Human Resource Department in Modern Business

b) Recruitment of Employee

c) Self-Development

d) Techniques of Performance Appraisal

Q3) a) Define Human Resource Management. Explain importance of Human
Resource management. [8]

b) Briefly describe various resources of Recruitment. [7]

Q4) a) Define Human Resource and explain its purpose and scope. [8]

b) Explain the various sources of recruitment of employees. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) `mo½` n`m©̀  {ZdSy>Z [aº$ OmJm ^am (H$moUË`mhr 5) [5]

i) {dH$mg hm eãX ............... er OmoS>bobm Amho.

A) ì`dñWmnH$ ~) H$m_Jma

H$) n`©dojH$ S>) darb n¡H$s gd©

ii) à{ejU Aä`mgH«$_ gm_mÝ`V… ................ _wXVr gmR>r {S>PmBZ Ho$bobo AgVmV.

A) AënH$mbrZ ~) XrK©H$mbrZ

H$) _Ü`_H$mbrZ S>) darb gd©

iii) ............... hr H$_©Mmè`m§Mo ì`dñWmnZ, à{ejU, {dH$mg Am{U _yë`_mnZ
H$aÊ`mMr à{H«$`m Amho.

A) H$m`©j_Vm _yë`m§H$Z ~) àoaUm

H$) g_Ýd` S>) {ZdS>

iv) ............... hr ̀ mo½` ZmoH$argmR>r ̀ mo½` ì`º$s {ZdS>Ê`mMr à{H«$`m åhUyZ n[a^m{fV
Ho$br OmD$ eH$Vo.

A) {ZdS> ~) ^aVr

H$) àdV©Z S>) AmoarE§Q>oeZ

v) _mZd g§gmYZ ì`dñWmnZ hr ................ à{H«$`m Amho.

A) ^aVr Am{U {ZdS> ~) H$m¡eë`m§Mo {dûcofU H$aUo

H$) _Zwî`~imMm dmna S>) darbn¡H$s H$mhrhr Zmhr
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vi) EMAmaE_ hr ............... Mr H$bm Amho.

A) H$m`m©Mr V`mar

~) _Ü`_ nmVirdarb ì`dñWmnZmV g_Ýd` gmYUo

H$) CƒñVar` ì`dñWmnZmg _XV H$aUo

S>) bmoH$m§Mo ì`dñWmnZ H$aUo

~) `mo½` OmoS>çm Owidm. [5]

aH$mZm A aH$mZm ~

i) H$maH$sX© {Z`moOZ A) ~mø ^aVr òmoV

ii) H$m`©_wë`m§H$Z ~) _mZdr g§gmYZ ì`dñWmnZ H$m`©

iii) H$m`PoZ n§MgyÌr H$) OnmZr V§Ì

iv) g_Ýd` S>) AmboI _wë`m§H$Z nÕV

v) _wbmIV nÕV B) H$_©Mmar {dH$mg

àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV Q>rnm {bhm (H$moUË`mhr XmoZ) [10]

A) AmYw{ZH$ ì`dgm`mVrb _mZd g§gmYZ {d^mJmMr H$m }̀

~) H$_©Mmar ^aVr

H$) ñd-{dH$mg

S>) H$m_{Jar _yë`_mnZmMr V§Ìo

àíZ àíZ àíZ àíZ àíZ 3) A) _mZdr g§gmYZ ì`dñWmnZmMr ì`m»`m Úm. _mZdr g§gmYZ ì`dñWmnZmMo _hËd ñnï>
H$am. [8]

~) ^aVrÀ`m {d{dY òmoVm§Mo WmoS>Š`mV dU©Z H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) _mZdr g§gmYZmMm AW© gm§JyZ Ë`mMo CÔoe d ì`már ñnï> H$am. [8]

~) H$_©Mmar ^aVrMo {d{dY òmoV ñnï> H$am. [7]





Q1) A) Fill in the Blanks (any 5) : [5]
i) __________ Allocate saving efficiently in an economy to ultimate

users either for investment in real assets or for consumption.
a) Economic system b) Banking system
c) Financial system d) Market system

ii) Bombay stock exchange Established in ___________.
a) 1890 b) 1875
c) 1880 d) 1871

iii) Capital market regulator is ___________.
a) RBI b) IRDA
c) BSE d) NSE

iv) Exchange rates are determined in ___________.
a) Money market b) The foreign exchange market
c) The stock market d) The capital market

v) Maintaining a foreign currency account is helpful to __________.
a) Avoid transaction cost
b) Avoid exchange risk
c) Avoid both transaction cost and exchange risk.
d) Avoid exchange risk and domestic currency depreciation.

vi) Money market is a mechanism through which ___________
funds are loaned and borrowed.
a) Short term b) Medium term
c) Long term d) None of the above
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B) Match the following : [5]

Group - A Group - B

i) Financial system a) Finance for Development

ii) Money market b) The framework for the
exchange of one national
currency for another

iii) Capital market instrument c) Useful for small company and
small investor

iv) Over The counter d) Debenture

exchange of India

v) Foreign Exchange market e) Call money market

Q2) Write short notes (any 2) : [10]

a) Functions of financial system in India

b) Deficiencies of Indian money market

c) Functions of foreign exchange market.

d) Credit instrument in Indian capital market

Q3) a) Explain role of financial system in economic development. [8]

b) Explain functions of Indian money market. [7]

Q4) a) Define Foreign Exchange Market. Explain participants in Foreign
Exchange market. [8]

b) Explain functions of Indian capital market. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må¶m OmJm ^am. (H$moUË`mhr 5) [5]
i) ............... AW©ì`dñWoVrb H$m ©̀j_VoZo ~MVrMo dmQ>n A§{V_ dmnaH$Ë`m©Zm EH$Va

dmñV{dH$ _mb_ÎmoVrb Jw§VdUwH$sgmR>r qH$dm dmnamgmR>r H$aVo.
A) Am{W©H$ àUmbr ~) ~±qH$J àUmbr
H$) {d{Îm` àUmbr S>) ~mOma àUmbr

ii) _w§~B© eoAa ~mOmamMr ñWmnZm ................. Pmbr.
A) 1890 ~) 1875

H$) 1880 S>) 1871

iii) ^m§S>db ~mOmamMo {Z`m_H$ ........... Amho.
A) Ama ~r Am` ~) Am` Ama S>r E
H$) ~r Eg B S>) EZ Eg B

iv) {d{Z_` Xa ......... _Ü ò {ZYm©[aV Ho$bo OmVmV.
A) ZmUo ~mOma ~) naH$s` {d{Z_` ~mOma
H$) eoAa ~mOma S>) ^m§S>db ~mOma

v) naH$s` MbZ ImVo amIUo ................. gmR>r Cn ẁº$ Amho.
A) ì`dhma IM© Q>miUo
~) {d{Z_` OmoIr_ Q>miUo
H$) ì`dhma IM© Am{U {d{Z_` OmoIr_ XmoÝhr Q>miUo
S>) {d{Z_` OmoIr_ Am{U Xoem§VJ©V MbZ Kgmam Q>miUo
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vi) ZmUo ~mOma, åhUOo Aer ̀ §ÌUm H$s {OÀ`m_m\©$V .............. H$O} {Xbr d KoVbr
OmVmV.
A) Aën_wXVrMr ~) _Ü`_ _wXVrMr
H$) XrK© _wXVrMr S>) darb n¡H$s Zmhr

~) OmoS>çm Owidm. [5]
A JQ> ~ JQ>

i) {dÎmr` àUmbr - A) {dH$mgmgmR>r AW© nwadR>m
ii) ZmUo~mOma - ~) EH$m XoemÀ`m MbZmMr Xþgè`m XoemÀ`m

MbZm ~amo~a AXbm~Xb H$aÊ`mgmR>r
Mm¡H$Q> nwa{dÊ`mMo H$m ©̀ H$aVmo

iii) ^m§S>db ~mOma {d{Îm` gmYZo - H$) bhmZ H§$nZr d bhmZ Jw§VdUyH$Xma `m§Zm
Cn`moJr

iv) ^maVmMo Ëd[aV {d{Z_` H|$Ð - S>) H$O© amoIo
v) naH$s` {d{Z_` ~mOma - B) _mJUr H$aVmM {_iUmè`m n¡emMm ~mOma

àíZ àíZ àíZ àíZ àíZ 2) Q>rnm {bhm (H$moUË`mhr XmoZ) [10]
A) ^maVmVrb {d{Îm` àUmbrMr H$m }̀
~) ^maVr` ZmUo~mOmamVrb CUrdm/Xmof
H$) naH$s` {d{Z_` ~mOma noR>oMr H$m }̀
S>) ^maVr` ^m§S>db ~mOmamVrb {dÎmr` gmYZo

àíZ àíZ àíZ àíZ àíZ 3) A) Am{W©H$ {dH$mgmV {d{Îm` àUmbrMr ŷ{_H$m ñnï> H$am. [8]
~) ^maVr` ZmUo~mOmamVrb H$m }̀ ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) naH$s` {d{Z_` ~mOmamMr ì`m»`m {bhm. naH$s` {d{Z_` ~mOmamVrb gh^mJr KQ>H$
ñnï> H$am. [8]

~) ^maVr` ^m§S>db ~mOmamVrb H$m }̀ ñnï> H$am. [7]





Q1) A) Fill in the blank with the most appropriate alternative. (Any Five)[5]

i) In India the law related to workman compensation, child labour act
are called as _______.

(Bonus Act, Labour law, Mercantile law, Factories law)

ii) The purpose of labour law does not include _______.

(Provides legal frame-work, Employee satisfaction, Workplace
democracy, Industrial relations)

iii) The term ________ means productive work especially physically
work done for wages.

(Labour, Productivity, Job, Work)

iv) The Indian labour law is mainly concentrating on the problems
related to ___________.

(Labour welfare, Child labour, Women problems, Factory work)

v) __________ has formulated the employees provident fund scheme.

(ESIC, Medical benefit council, The state government, The central
government)

vi) ILO stands for ___________.

(International Labour Organization, Internal Labour Organization,
Internal Laboratory Organization, Interim Labour Organization)
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b) Match the following : [5]

      Column A          Column B

i) 15th March 1948 a) The Employees Provident Fund

and Miscellaneous Provision Act

ii) 1952 b) Industrial Disputes Act

iii) 1924 c) Factories Act

iv) 1947 d) Minimum Wages Act

v) 23rd September 1948 e) Workman Compensation Act

Q2) Write a short note (Any Two) : [10]

a) Labour policy in India.

b) Provisions regarding safety and labour welfare.

c) Standing committee.

d) Employees deposit linked insurance scheme.

Q3) a) Explain the history and evolution of labour laws in India. [8]

b) Define the term Factory. Explain the concepts of manufacturing process,
worker, work hours, inspection officer under Factories act 1948. [7]

Q4) a) Explain the adjudication of disputes and claims under The Employees
State Insurance Act, 1948. [8]

b) Explain the objectives and scope of Employees Provident Fund and
Miscellaneous Provident Act, 1952. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) ^maVmV H$m_Jmam§Mr ZwH$gmZ ̂ anmB©, ~mbH$m_Jma B. g§~§{YV AgUmè`m H$m`Úmbm
................. Ago åhUVmV.

(~moZg H$m`Xm, ì`mnmar H$m`Xm, H$maImZm H$m`Xm, _Oyar H$m`Xm)

ii) H$m_Jma H$m`Úm_Ü`o .............. hm hoVy g_m{dï> Zmhr.

(H$m`Xoera {Z`m_H$ H$m_, H$_©Mmè`m§Mo g_mYmZ, H$m_Jma bmoH$emhr, Am¡Úmo{JH$
g§~§Y)

iii) ............ `m eãXmMm AW© åhUOoM _OwargmR>r Ho$bo OmUmao emararH$ H$m ©̀ hmò .

(l_rH$, CËnmXH$Vm, ZmoH$ar, H$m_)

iv) ^maVr` H$m_Jma H$m`Xm hm àm_w»`mZo ............ `m g_ñ`m§da bj H|$ÐrV H$aVmo.

(H$m_Jma H$ë`mU, ~mbH$m_Jma, _{hbm g_ñ`m, H$ma»`mÝ`mMo H$m_)

v) .............. Zo H$_©Mmar ^{dî` {Zdm©h {ZYr `moOZm V`ma Ho$br Amho.

(B©EgAm`gr, d¡ÚH$s` bm^ n[afX, amÁ` gaH$ma, H|$Ð gaH$ma)

vi) Am`.Eb.Amo. Mo {dñVm[aV ê$n .............. Amho.

(Am§Vaamḯ>r` H$m_Jma g§KQ>Zm, A§VJ©V H$m_Jma g§KQ>Zm, Am§Vaamḯ>r` b°~«moQ>ar g§KQ>Zm,
A§{V_ H$m_Jma g§KQ>Zm)

3 P.T.O.
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~) `mo½` OmoS>çm Owidm. [5]

   aH$mZm A            aH$mZm ~

i) 15 _mM© 1948 A) ^{dî` {Zdm©h {ZYr Am{U {d{dY VaVwXr
H$m`Xm

ii) 1952 ~) Am¡Úmo{JH$ {ddmX H$m`Xm

iii) 1924 H$) H$maImZm H$m`Xm

iv) 1947 S>) {H$_mZ doVZ H$m`Xm

v) 23 gßQ>|~a 1948 B©) H$m_Jma ZwH$gmZ ^anmB© H$m`Xm

àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]

A) ^maVr` H$m_Jma YmoaU

~) gwajm Am{U H$m_Jma H$ë`mU g§~§Yr VaVyXr

H$) ñWm`r g{_Vr

S>) H$_©Mmar {S>nm°{PQ> qbŠS> BÝewaÝg ñH$s_

àíZ àíZ àíZ àíZ àíZ 3) A) ^maVmVrb H$m_Jma H$m`ÚmMm B{Vhmg Am{U CËH«$m§Vr ñnï> H$am. [8]

~) H$maImZm `m g§kmMr ì`m»`m {bhm. H$maImZm H$m`Xm 1948 A§VJ©V, CËnmXZ à{H«$`m,
H$m_Jma, H$m_mMo Vmg `m g§H$ënZm ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) H$_©Mmar amÁ` {d_m H$m`Xm 1948 A§VJ©V, {ddmX Am{U Xmì`m§À`m {ZU©̀ mMo ñnï>rH$aU
Xçm. [8]

~) H$_©Mmar ^{dî` {Zdm©h {ZYr Am{U {d{dY VaVwXr H$m`Úm§VJ©V 1952 CÔoe d ì`már ñnï>
H$am. [7]





Q1) A) Fill in the blanks (any 5) : [5]
i) The basic objective of consumer co-operative society is to eliminate

_____________
a) Company b) Consumer
c) Middleman d) Government

ii) NAFED was founded in ________
a) 1958 b) 1968
c) 1908 d) 1918

iii) Dairy society working at village level is the example of
_________level society.
a) State b) National
c) Primary d) District

iv) The first cotton mill in India was established in ________
a) Bombay b) Ahemdabad
c) Kanpur d) Madras

v) Consumer co-operatives are established for __________
a) Welfare of society b) Welfare to consumers
c) Welfare of Government d) None of these

vi) In Maharashtra, first co-operative sugar factory was started in
______ District.
a) Pune b) Ahemednagar
c) Nasik d) Nagpur
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B) Match the following Pairs : [5]
        'A'       'B'

i) P.A.C.S. a) Wholesale market
ii) Super market b) consumer society
iii) Welfare of consumers c) Agriculture marketing

federation
iv) District level society d) Primary co-operative credit

society
v) N.A.F.E.D. e) Working at District level

Q2) Write short notes (any two) : [10]
a) Features of co-operative marketing.
b) Progress of co-operative society.
c) Co-operative consumer stores.
d) Problems of sugar co-operatives.

Q3) a) State the functions of co-operative credit society. [8]
b) State the different elements of co-operative marketing. [7]

Q4) a) State the functions of National co-operative consumers federation. [8]
b) State the problems of Dairy co-operative societies. [7]


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àíZ 1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) J«mhH$ ghH$mar g§ñWm§Mm à‘wI CXXoe åhUOo .............. g‘yi CƒmaZ H$aUo

hmo¶.
A) H§$nZr ~) J«mhH$
H$) ‘Ü¶ñW S>) gaH$ma

ii) Zm’o$S> Mr ñWmnZm ............ ¶m dfu Pmbr.
A) 1958 ~) 1968
H$) 1908 S>) 1918

iii) Jmd nmVirdarb Xÿ½Y ghH$mar gmogm¶Q>r hr ........... àH$maÀ¶m ñVamdarb gmogm¶Q>r
Amho.
A) amÁ¶ ~) XoenmVir
H$) àmW{‘H$ S>) {OëhmnmVir

iv) ^maVm‘Ü¶o n{hbr gyV{JaUr ............. ¶m {R>H$mUr ñWmnZ Pmbr.
A) ~m°å~o ~) Ah‘Xm~mX
H$) H$mZnya S>) ‘Ðmg

v) J«mhH$ ghH$mar g§ñWm .............. H$arVm ñWmnZ Ho$ë¶m OmVmV.
A) gmogm¶Q>rMo H$ë¶mU ~) J«mhH$m§Mo H$ë¶mU
H$) gaH$maMo H$ë¶mU S>) ¶mn¡H$s Zmhr

vi) ‘hmamï´>mV n{hbm ghH$mar gmIa H$maImZm ............. {OëhçmV ñWmnZ Pmbm.
A) nwUo ~) Ah‘XZJa
H$) Zm{gH$ S>) ZmJnya

3 P.T.O.
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~) Imbrb OmoSçm bmdm. [5]
"A' "~'

i) nr. E. gr. Eg A) KmD$H$ ~mOma

ii) gyna ‘mH}$Q> ~) J«mhH$ gmogm¶Q>r

iii) J«mhH$m§Mo H$ë¶mU H$) H¥$fr {dnUZ ‘hmg§K

iv) {Oëhm ñVar¶ gmogm¶Q>r S>) àmW{‘H$ ghH$mar nV gmogm¶Q>r

v) Zm’o$S> B) {Oëhm nmVirda H$m¶©aV

àíZ 2) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) ghH$mar {dnUZmMr d¡{eï>¶o.

~) ghH$mar gmogm¶Q>¶m§Mr àJVr

H$) ghH$mar J«mhH$ §̂S>ma

S>) ghH$mar gmIa H$maImÝ¶m§Mo Xmof/g‘ñ¶m

àíZ 3) A) ghH$mar nV gmogm¶Q>rMr H$m¶©o gm§Jm. [8]
~) ghH$mar {dnUZmMo {d{dY KQ>H$ gm§Jm. [7]

àíZ 4) A) amï´>r¶ ghH$mar J«mhH$ g§KmMr H$m¶©o gm§Jm. [8]
~) Xÿ½Y ghH$mar gmogm¶Q>rÀ¶m g‘ñ¶m gm§Jm. [7]





Q1) A) Fill in the blanks (Any 5 out of 7) : [5]
i) __________ overheads are related to the periods, hence they are

termed as period costs.
a) Fixed b) Variable
c) Semi variable d) Direct

ii) Uncontrollable overheads are _________ the control of the
management.
a) Within b) Beyond
c) Decreasing d) Fixed

iii) Overheads are absorbed on the basis of absorption _______.
a) Tools b) Rates
c) Costs d) Price

iv) Under absorption of overheads results in ________ of cost.
a) Under statement b) Rise
c) Increase d) Inflate

v) ____________ is a more specific way of allocating overhead
costs based on “activities” that actually contribute to overhead
costs.
a) Marginal costing b) Standard costing
c) Activity-based costing d) Uniform costing

vi) ___________are business costs that are related to the day-to-day
running of the business.
a) Rent b) Rates
c) Bonus d) Overheads
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vii) Asper CAS 15 ______ overheads comprises selling overheads
and distribution overheads.

a) Marketing b) Production

c) Purchase d) Price

B) Match the following : [5]

i) Fixed overheads - CAS - 11

ii) Administrative overheads - money spent on an activity

iii) Production and Operations - unaffected by variations

overheads

iv) Activity based costing - CAS - 3

v) Cost pools - allocating overhead costs
based on activities

Q2) Short Notes (Any Two out of Four) : [10]

a) Utility of Cost Accounting Standards

b) Need for Activity Based Costing

c) Classification of Overheads

d) Absorption of overheads

Q3) The following data were obtained by Global Summit for the month ended
31st March 2021 from which you are required to calculate the departmental
overhead rate for each of the production department assuming that overheads
are recovered as percentage of Direct Wages. [15]

Particulars Production departments Service departments

“A” ‘‘B” ‘‘C” ‘‘X” “Y”

Direct materials in Rs. 15000 30000 30000 22500 22500

Direct wages in Rs. 30000 45000 60000 15000 30000

Staff numbers No. 1500 2250 2250 750 750

Electricity KWH 6000 4500 3000 1500 1500

Capital value of Assets in Rs. 60000 40000 30000 10000 10000

Area Sq.ft. 1500 2500 500 500 500

Light Points No. 10 16 4 6 4

Other expenses for the period were:
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The overhead Expenses for the period were :

Particulars In Rs

Power 1100

Lighting 200

Stores Overhead 800

Staff Welfare 3000

Depreciation 30000

Repairs 6000

General Overheads 12000

Rent and Taxes 550

Apportion the overhead expenses of service dept “Y” on the basis of direct
wages and those of service dept “X” in the ratio of 10:6:4 to the Production
Depts.

Q4) Forex Ltd. Fardapur has submitted the cost data below : [15]

Particulars 2020 Rs. 2021 Rs.

Actual overheads 500000 648000

Actual Labour Cost 1250000 Increased by 20 %

Overheads were absorbed at the same rate as based on actuals for the year
2020. The statement of cost for the year 2021 indicates that direct labour
cost is distributed as follows —

Particulars Rs.

Cost of Sales 1000000

Closing Stock of finished goods 375000

Work-in-progress at the end 125000

Total 1500000

You are required to calculate

i) Overhead absorption rate

ii) The amount of overheads under or over absorbed

ii) The disposal of Overheads


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Q1) a) Fill in the blanks (Any 5) : [1 each]
i) No. of different ways of arranging 3 boys for a photograph in a row

is _______.
ii) No. of ways of selection of 2 balls from 4 balls is _________.
iii) A die is tossed two times and outcomes are noted then the total

number of elements in the sample space is ________.

iv) If A is any event defined on the sample  space such that 1P(A)
3

=

then conditional probability of A given A' P(A/A' ) = _______.
v) Expected value of a constant is _________.
vi) Reorder level = minimum level + _______.

b) State whether the following statements are true or false.(any five)
i) A discrete random variable (r.v.) takes only particular values.
ii) If two events A and B are independent then P(A/B) = 0.
iii) Poisson distribution is used in a case of very rare events.
iv) Set up cost is the cost incurred each time an order is placed.
v) For binomial distribution mean > variance.
vi) If a discrete r.v. X → Bernoulli (P = 0.6) then mean = variance = 0.6.

SEAT No. :

P.T.O.
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Q2) Write short note on the following (Any two) : [5 each]

a) Define classical definition of probability. What are its assumptions? State
axioms of probability.

b) Explain the terms : random variable (r.v.), discrete r.v.., probability mass
function (p.m.f.).

c) Define Binomial distribution. State its p.m.f., state its mean, variance and
standard-deviation (s.d.) state additive property of binomial distribution.

d) Meaning and necessity of inventory control. Define deterministic inventory
model.

Q3) a) Attempt the following :

i) Define Economic order quantity and Reorder level. [4]

ii) State Baye's theorem. [3]

b) Attempt the following :

i) The p.m.f. of a discrete r.v.x is given by

X –2 –1 0 1 2

P(X = x) 0.3 0.2 0.2 0.1 0.2

Obtain variance of X. [4]

ii) The joint p.m.f. of (x, y) is given by [4]

        y
–1 1   x

–1 0.2 0.3

1 0.4 0.1

Check whether x and y are independent?
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Q4) a) Attempt the following :

i) For X → B(n, p) [4]

I) If E(x) = 6, Var(x) = 4.2, then find n and p.

II) If P = 0.6, E(x) = 6 then find n and Var(x).

III) If n = 25, E(x) = 10 then find p and Var(x).

IV) Is it possible to have E(x) = 3, Var(x) = 3?

ii) For joint p.m.f. of (x, y) [4]

         y
–1 0 1    x

0 0.1 0.2 0.1

1 0.2 0.3 0.1

Obtain marginal probability distributions of x and of y. Also obtain
P(x = y).

b) Attempt the following :

i) Define the following :

Sample space, event, simultaneous occurrence of two events A & B,
occurrence of at least one of the two events A & B. [4]

ii) The p.m.f. of a discrete r.v. X is [3]

X –1 0 1 2 3

P(X = x) 0.1 0.2 0.3 0.2 0.2

Obtain variance of X.





Q1) A) Fill in the Blanks (Any 5). [5]
i) A small enterprise investment in Plant & Machinery does not exceed

to _________ crore.
a) 5
b) 10
c) 15

ii) Registration of Micro, Small and Medium Enterprises (MSME) is
_______ in India.
a) compulsory
b) optional
c) not compulsory

iii) ________ is the reason for sickness in Micro, Small and Medium
Enterprises (MSME) sector.
a) Power shortage
b) Equipment shortage
c) Management problems

iv) DSCR stand for _________.
a) Derivative service coverage ratio
b) Debt service coverage ratio
c) Discount service coverage ratio
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v) IFCI was established in the year __________.
a) 1946
b) 1948
c) 1950

vi) BEA stands for ________.
a) Break Earning Analysis
b) Breaking Even Analysis
c) Break Even Analysis

B) Match the Following : [5 × 1 = 5]
Group ‘A’ Group ‘B’

i) Business Planning a) 1978
ii) District Industries Centre b) Announcement in the year

(DIC) 2020
iii) Maharashtra Industrial c) 2006

Development Corporation
(MIDC)

iv) MSME Act d) Project Report
v) Atma Nirbhar Bharat Abhiyan e) 1962

Q2) Write Short notes (Any 2). [10]
a) Investment and Annual Turnover.
b) Udyam Registration Portal.
c) Project Appraisal.
d) District Industries Centre

Q3) a) What is Micro, Small and Medium Enterprises (MSME)? Explain the
COVID-l9 impact on MSME. [8]

b) Explain the various business opportunities under Micro, Small and
Medium Enterprises (MSME). [7]

Q4) a) What is Business Plan. Explain the various importance of business plan.
[8]

b) Explain the various financial incentives for Small-Scale Industries (SSI).
[7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]
i) §̀Ìgm_J«rVrb Jw§VdUyH$ bhmZ CÚmoJmV é............. H$moQ>r nojm OmñV ZgVo.

A) 5
~) 10
H$) 15

ii) gyú_, bKw Am{U _Ü`_ CnH«$_ (E_EgE_B©) Mr Zm|XUr ^maVmV ......... Amho.
A) A{Zdm ©̀
~) n`m©̀ r
H$) A{Zdm ©̀ Zmhr

iii) .................. ho gyú_, bKw Am{U _Ü`_ CnH«$_ (E_EgE_B©) joÌmVrb AmOmamMo
H$maU Amho.
A) drO H$_VaVm
~) CnH$aUm§Mr H$_VaVm
H$) ì`dñWmnZ g_ñ`m

iv) S>r.Eg.gr.Ama. åhUOo ........... hmò .
A) ì ẁËnÞ godm ì`már JwUmoÎma
~) G$Ugodm ì`már JwUmoÎma
H$) gdbV godm ì`már JwUmoÎma

v) Am`.E\$.gr.Am` Mr ñWmnZm ............ dfm©V Pmbr
A) 1946
~) 1948
H$) 1950
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vi) ~r.B©.E. åhUOo .............. hmo`.
A) g_ H$_mB© {dûcofU
~) N>oX VmoS>Uo {dûcofU
H$) g_ N>oX {dûcofU

~) OmoS>çm bmdm. [5]
JQ> "A' JQ> "~'

i) ì`dgm` {Z`moOZ A) 1978
ii) {Oëhm CÚmoJ H|$Ð (S>r.Am`.gr.) ~) 2020 _Ü ò KmofUm
iii) _hmamï´> Am¡Úmo{JH$ {dH$mg H$) 2006

_hm_§S>i (E_Am`{S>gr)
iv) E_.Eg.E_.B©. H$m`Xm S>) àH$ën Ahdmb
v) AmË_ {Z ©̂a ^maV A{^`mZ B) 1962

àíZ àíZ àíZ àíZ àíZ 2) Q>rnm {bhm (H$moUË`mhr XmoZ) [10]
A) Jw§VdUyH$ Am{U dm{f©H$ CbmT>mb
~) CÚ_ Zm|XUr nmoQ>©b
H$) àH$ën _yë`_mnZ
S>) {Oëhm CÚmoJ H|$Ð

àíZ àíZ àíZ àíZ àíZ 3) A) gyú_, bKy Am{U _Ü`_ CnH«$_ (E_EgE_B©) åhUOo H$m`? H$mo{dS>-19 Mm gyú_, bKw
Am{U _Ü`_ CnH«$_ (E_EgE_B©) `mda hmoUmam n[aUm_ ñnï> H$am. [8]

~) gyú_, bKy Am{U _Ü`_ CnH«$_ (E_EgE_B©) `m A§VJ©V {d{dY ì`dgm` g§Yr ñnï> H$am.
[7]

àíZ àíZ àíZ àíZ àíZ 4) A) ì`dgm` `moOZm H$m` Amho? ì`dgm` `moOZoMo {d{dY _hÎd gm§Jm. [8]
~) bKwCÚmoJm§gmR>r (E_EgAm`) {d{dY Am{W©H$ àmoËgmhZ gdbVr ñnï> H$am. [7]





Q1) A) Fill in the blank with the most appropriate alternative (any Five) :
[5]

i) The purpose of non-profit organizations is to ________.

(provide services, earning income, making a profit)

ii) Identification of source of product is important to the________

(Employee, Consumer, Government)

iii) ________ is the process of estimating a company’s sales revenue
for a specific time period, commonly a month, quarter, or year.

(Market demand, Sales forecasting, Marketing)

iv) ________ a characteristic of this organizational structure is that it
is done on two or more bases.

(Geographical, Matrix, Functional)

v) _________ are concerned with creating a lasting impression
among consumers, improving product sales and market share.

(Brand Manager, Consumer, Manufacturer)

vi) All the ________ try to impress the brand of their product in the
mind of the consumer.

(Manufacturer, Purchaser, Customer)

Total No. of Questions : 4]
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B) Match the following : [5]

Column A Column B

i) Irregular Demand a) Sales Forecasting

ii) Delphi Technique b) Seasonal Goods

iii) Government Schemes c) Same brand same item

iv) Functional Marketing d) Digital India
Organization

v) Line Marketing Strategy e) Simple and common type

Q2) Write a short note (any two) : [10]

a) Determinants of Demand

b) Non-Profit Organization

c) Customer Oriented Marketing Organization

d) Umbrella Brand Strategy

Q3) a) Elaborate the techniques of Sales forecasting. [8]

b) Explain the problems of the Non-Profit Organization. [7]

Q4) a) Explain the factors affecting on Marketing Organization. [8]

b) Explain the various types of Brand Building Strategies. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) `mo½` n`m©̀  {ZdSy>Z [aº$ OmJm ^am (H$moUË`mhr 5) [5]

i) Aì`dgm{`H$ g§ñWm§Mm CÔoe ............. hm AgVmo.

(godm nwa{dUo, CËnÞ {_i{dUo, Z\$m {_i{dUo)

ii) CËnmXZmMm òmoV AmoiIUo ho .............. gmR>r _hËdmMo Amho.

(H$m_Jma, J«mhH$, emgZ)

iii) ................. hr EImÚm {d{eï> H$mbmdYrgmR>r, gm_mÝ`V… EH$ _{hZm, {V_mhr
qH$dm dfm©gmR>r H§$nZrÀ`m {dH«$s CËnÞmMm A§XmO bmdÊ`mMr à{H«$`m Amho.

(~mOma _mJUr, {dnUZ, {dH«$sA§XmO)

iv) ................. g§KQ>Z aMZoMo d¡{eï²>` åhUOo XmoZ qH$dm A{YH$ AmYmamda H$m`mªMo
ôX Ho$bo OmVmV.

(^m¡Jmo{bH$, T>mMmË_H$, H$m`m©Ë_H$)

v) ............... J«mhH$m§_Ü ò H$m`_ñdê$nr à^md {Z_m©U H$aUo, CËnmXZm§Mr {dH«$s
Am{U ~mOmamVrb {hñgm gwYmaUo er g§~§{YV Amho.

(~«±S> _°ZoOa, J«mhH$, CËnmXH$)

vi) gd© .............. Amnë`m CËnmXZmMm ~«±S> J«mhH$mÀ`m _ZmV R>gdÊ`mMm à`ËZ
H$aVmV.

(CËnmXH$, IaoXrXma, J«mhH$)
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~) `mo½` OmoS>çm Owidm. [5]

aH$mZm A aH$mZm ~

i) A{Z`{_V _mJUr A) {dH«$s A§XmO

ii) S>oë\$s V§Ì ~) h§Jm_r dñVy

iii) emgH$s` `moOZm H$) EH$M ~«±S> EH$M dñVy

iv) H$m`m©Ë_H$ {dnUZ g§KQ>Zm S>) {S>{OQ>b B§{S>`m

v) aofm {MÝhm§H$Z ì ỳhaMZm B) gmonm d gd©gm_mÝ` àH$ma

àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV [Q>nm {bhm (H$moUË`mhr XmoZ) [10]

A) _mJUrMo {ZYm©aH$ KQ>H$

~) {dZm Z\$m g§KQ>Zm/ g§ñWm

H$) J«mhH$m{^_wI {dnUZ g§KQ>Zm

S>) EH$N>Ìr {MÝhm§H$Z ì ỳhaMZm

àíZ àíZ àíZ àíZ àíZ 3) A) {dH«$sMm A§XmO dV©dÊ`mMr V§Ìo {deX H$am. [8]

~) {dZm Z\$m g§KQ>ZoÀ`m g_ñ`m ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) {dnUZ g§ñWoda n[aUm_ H$aUmao KQ>H$ ñnï> H$am. [8]

~) {MÝhm§H$Z ~m§YUr ì ỳhaMZoMo {d{dY àH$ma ñnï> H$am. [7]





Q1) a) Fill in the Blanks (Attempt any 5 out of 6) : [5]

i) ___________ are the major role played by public sector in
Economic development of India.

(Strong industrial base, generation of employment Expert
promotion, All)

ii) ___________ sector contributes the most of India's Economy.

(Service Sector, Manufacturing Sector, Agriculture Sector, Small
scale industries)

iii) The APLM act was passed in ____________.

(2020, 2017, 2013, 2007)

iv) ___________ industry is Not depend on agriculture sector.

(IT Industry, sugar industry, Jute industry, Textiles industry)

v) The major problem of agricultural marketing in India is ________.

(price fluctuations, Low agricultural productivity, uncertanity in
Moonsoon, Non-availability of seeds)

vi) The major problem of agricultural processing industries is
__________.

(Low quality of raw material, low quality of human capital, price
fluctuations in raw material, Lack of knowledge)
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b) Match the following : [5]

i) Disinvestment a) 2017

ii) Health b) Problem of agricultural
marketing

iii) Export promotion c) Reduction in public
ownership

iv) APLM act d) Health sector

v) Lack of transport facilities e) SEZ

Q2) Write a short note (Any 2 out of 4) : [10]

a) Issues regarding deregulation.

b) Problems of agricultural marketing.

c) Scope of agro processing industries.

d) Importance of sugar industry.

Q3) a) Write a detail note on disinvestment and future Economic Reforms of
India. [8]

b) Explain in detail the problems of agro processing industries in India.
[7]

Q4) a) Describe the present status of food retail marketing system in India.
[8]

b) Explain in detail the importance of agro based industries. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må¶m OmJm ^am. (H$moUË`mhr 5) [5]

i) ^maVmÀ`m Am{W©H$ {dH$mgm_Ü ò ................. ñdê$nmV gmd©O{ZH$ joÌmZo Amnbr
ŷ{_H$m dma nmS>br Amho.

(_O~yV Am¡Xçmo{JH$ nm`m, amoOJma {Z{_©Vr, {Z`m©VdmX, gd©)

ii) .................. `m joÌmMm ^maVmÀ`m Am{W©H$ {dH$mgmV gdm©{YH$ dmQ>m Amho.

(godmjoÌ, {d{Z_m©U joÌ, H¥$fr joÌ, bKwCX²̀ moJ joÌ)

iii) APLM H$m`Xm ................ _Ü`o g§_V H$aÊ`mV Ambm.

(2020, 2017, 2013, 2007)

iv) ................ CX`moJ H¥$fr joÌmda Adb§~yZ Zmhr.

(IT CX`moJ, gmIa CX`moJ, OwQ> CX`moJ, dómoX²̀ moJ)

v) ............... hr ^maVmÀ`m H¥$fr {dnUZmVrb gdm©V à_wI g_ñ`m Amho.

(qH$_V MT>CVma, AënH¥$fr CËnmXH$Vm, nO©Ý`_mZmMr A{ZpíMVVm, {~-{~`mÊ`m§Mr
AZwnbãYVm)

vi) ................ hr H¥$frà[H«$`m CX²̀ moJm§Mr gdm©{YH$ _hËdmMr g_ñ`m Amho.

(H$ÀÀ`m _mbmMm {ZåZ XOm©, _mZdr ^m§S>dbmMm {ZåZ XOm©, qH$_V MT>CVma,
_m{hVrMm A^md)
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~) `mo½` OmoS>çm bmdm. [5]

i) {ZJw©VdUyH$ A) 2017

ii) Amamo½` ~) H¥$fr  {dnUZmMr g_ñ`m

iii) {Z`m©V àmoËgmhZ H$) gmd©O{ZH$ _mbH$sVrb KQ>

iv) APLM H$m`Xm S>) Amamo½` joÌ

v) dmhVyH$ gw{dYm§Mm A^md B) SEZ

àíZ àíZ àíZ àíZ àíZ 2) Q>rnm {bhm (H$moUË`mhr XmoZ) … [10]

A) {ZJwªVdUyH$s~m~V MM}Mo _wÔo

~) H¥$fr {dnUZmÀ`m g_ñ`m

H$) H¥$fr à{H«$`m CX²̀ moJm§Mr ì`már

S>) gmIa CX²̀ moJmMo _hËd

àíZ àíZ àíZ àíZ àíZ 3) A) ^maVmVrb ^mdr Am{W©H$ gwYmaUm Am{U {ZJwªVdUyH$s~m~V g{dñVanUo {Q>n {bhm. [8]

~) ^maVmVrb H¥$fr à{H«$`m CX²̀ moJm§À`m g_ñ`m g{dñVanUo ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) ^maVmVrb gX`mñWVrVrb {H$aH$moi ImX` {dnUZ ì`dñWm {deX H$am. [8]

~) H¥$fr AmYm[aV CX²̀ moJm§Mo _hËd g{dñVa nUo {deX H$am. [7]





Q1) Attempt any five of the following (Any five) [5×2=10]

a) What is R&D

b) Define finance.

c) State the meaning of development.

d) Define budget.

e) Define defence budget.

f) Define war time economy.

Q2) Attempt any four of the following (Any four) [4×5=20]

a) Industrial policy

b) Resolution

c) Military Spender

d) Department of Defence production

e) Defence economics
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Q3) Attempt any four of the following (Any four) [4×5=20]

a) Why is India’s defence spending on the rise?

b) Explain the political aspect of defence production.

c) State the future prospects of the defence debate.

d) State the role of the public sector undertaking in defence.

e) Explain the importance of DRDO in war.

Q4) Attempt any two of the following (Any Two) [2×10=20]

a) Explain in detail industrial policy resolution of the government since 1991
onwards.

b) State the role of the department of Defence production.

c) Explain in detail information and role of Shanghai Cooperation
Organisation (SCO).


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àíZ 1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×2=10]

A) Ama Am{U S>r åhUOo H$m¶?

~) ’$m¶ZmÝgMr ì¶m»¶m Úm.

H$) {dH$mgmMm AW© gm§Jm.

S>) AW©g§H$ënmMr ì¶m»¶m Úm.

B) g§ajU AW©g§H$ën ì¶m»¶m Úm.

’$) ¶wÕH$mbrZ AW©ì¶dñWm ì¶m»¶m Úm.

àíZ 2) {Q>nm {bhm. (H$moUVohr Mma) [4×5=20]

A) Am¡Úmo{JH$ YmoaU

~) R>amd

H$) {‘{bQ>ar ñn|S>a

S>) g§ajU CËnmXZ {d^mJ

B) {S>’o$Ýg BH$m°Zm°{‘³g

3 P.T.O.
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àíZ 3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]

A) ^maVmMm g§ajU IM© H$m dmT>V Amho?

~) g§ajU CËnmXZm g§X^m©V amOH$s¶ n¡by ñnï> H$am.

H$) g§ajU dmXmÀ¶m ^{dî¶mVrb e³¶Vm g§mJm.

S>) g§ajU CËnmXZmVrb gmd©O{ZH$ joÌmMr ŷ{‘H$m ñnï> H$am.

B) ¶wÕmVrb S>r Ama S>r Amo Mo ‘hÎd ñnï> H$am.

àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2×10=20]

A) 1991 Z§VaMo gaH$maMo Am¡Úmo{JH$ YmoaU R>amd g{dñVa ñnï> H$am.

~) g§ajU CËnmXZ {d^mJmMr ŷ{‘H$m gm§Jm.

H$) em§Km¶ H$mo Am°naoeZ Am°J©Zm¶PoeZ (SCO) Mr Vnerbdma ‘m{hVr Am{U ŷ{‘H$m ñnï>
H$am.





Q1) A) Fill in the Blanks (Attempt any 5 out of 7). [5]
i) A Condition, which increase the Probability of a Loss or its Severity

and affects the Associated Risk, is known as _______.
a) Hazard b) Speculation
c) Mitigation d) Loss

ii) Risk insured against death is a contract of ______.
a) Agreement b) Permission
c) Assurance d) Caveat emptor

iii) Insurance Act, 1938, specifies the Rules for Nomination of Insurance-
Policies under ________.
a) Section 39 b) Section 41
c) Section 45 d) Section 21

iv) The Clause of Arbitration Does Not Apply to ______ Insurance.
a) Goods b) Marine
c) Agriculture d) Personal

v) Which One of the Following, is the Basic Insurance Legislation of
the Country, that governs Insurance Business in India?
a) Insurance Act, 1938
b) Insurance Regulatory and Development Authority (I.R.D.A)

Act, 1999
c) Deposit Insurance and Credit Guarantee Corporation Act, 1961
d) Public Liability Insurance Act, 1991
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vi) Risk-Inspection is Done, for Deciding the Rates of ______.
a) Salary b) Bonus
c) Premium d) Wages

vii) The word ‘Assurance’ is used for _______
a) Life Insurance b) Marine Insurance
c) Fire Insurance d) Medical Insurance

B) Match the Following : [5]
i) Dynamic Risk a) Unemployed
ii) Individual Risk b) Stable Environment
iii) Static Risk c) Accident
iv) Pure Risk d) Physical diasbility
v) Particular Risk e) Changes in the economy

Q2) Write Short notes (Any 2 out of 4). [10]
a) Single Premium
b) Perils and Hazards
c) Time Value of Money
d) Motor Vehicle Act 1988

Q3) a) Explain various types of premiums. [8]
b) Explain in details Insurance and Risk Management Techniques. [7]

Q4) a) State the various plans for rate computation. [8]
b) Explain the important clauses under The Insurance Laws (Amendment)

Act 2015. [7]





[6142]-516 3

Total No. of Questions : 4]

[6142]-516
T.Y. B.Com.

INSURANCE, TRANSPORT AND TOURISM - II
Insurance

(2019 Pattern) (Semester - V) (Special Paper - I) (355K)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 50
gyMZm :

1) gd© àý gmoS>{dUo A{Zdm ©̀$ Amho.
2) COdrH$S>rb A§H$ àýmMo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r B§J«Or àýn{ÌH$m nhmdr.

P-5896

P.T.O.

àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må¶m OmJm ^am. (gmV n¡H$s H$moUVohr nmM) [5]
i) EH$ pñWVr, Or ZwH$gmZmMr g§̂ mì`Vm qH$dm {VMr Vrd«Vm dmT>dVo Am{U g§~§{YV

OmoI_rda n[aUm_ H$aVo {Vbm ........... åhUyZ AmoiIbo OmVo.
A) YmoH$m ~) AQ>H$i
H$) e_Z S>) ZwH$gmZ

ii) _¥Ë ỳÀ`m OmoI_rda {d_m CVadUo hm EH$ .......... Amho.
A) g§_Vr ~) nadmZJr
H$) AmídmgZ S>) IaoXrXma gmdY ahmUo

iii) {d_m H$m`Xm, 1938 .......... A§VJ©V {d_m-nm°{bgrÀ`m Zm_m§H$ZmgmR>r {Z`_ {Z{X©ï>
H$aVmo.
A) H$b_ 39 ~) H$b_ 41
H$) H$b_ 45 S>) H$b_ 21

iv) bdmXmMo H$b_ ......... {då`mbm bmJy hmoV Zmhr.
A) dñVy ~) gmJar
H$) eoVr S>) d¡`{º$H$

v) Imbrbn¡H$s H$moUVm ^maVmVrb {d_m ì`dgm`mMo g§MmbZ H$aUmao XoemMo _yb ŷV
{d_m H$m`Xo Amho?
A) {d_m H$m`Xm 1938
~) {d_m {Z`m_H$ Am{U {dH$mg àm{YH$aU (Am`.Ama.S>r.E.) H$m`Xm, 1999
H$) R>odr {d_m Am{U nV h_r H$m°nm}aoeZ H$m`Xm, 1961
S>) gmd©O{ZH$ Xm{`Ëd {d_m H$m`Xm, 1991
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vi) ........... Mo Xa R>adÊ`mgmR>r OmoIr_-VnmgUr Ho$br OmVo.
A) nJma ~) ~moZg
H$) àr{_`_ S>) _Owar

vii) "AmídmgZ' hm eãX ........ gmR>r dmnabm OmVmo.
A) OrdZ {d_m ~) gmJar {d_m
H$) A{¾ {d_m S>) d¡X²̀ H$s` {d_m

~) `mo½` OmoS>çm Owidm. [5]
i) S>m`Zm_rH$ OmoIr_ A) ~oamoOJma
ii) d¡̀ {º$H$ YmoH$m ~) pñWa n`m©daU
iii) pñWa OmoIr_ H$) AnKmV
iv) ewÕ OmoIr_ S>) emar[aH$ An§JËd
v) {d{eï> OmoIr_ B) AW©ì`dñWoV ~Xb

àíZ àíZ àíZ àíZ àíZ 2) Q>rnm {bhm (Mma n¡H$s H$moUVohr XmoZ) [10]
A) {då`mMm EH$M hám
~) g§H$Q>o Am{U YmoHo$
H$) n¡emMo doioMo _yë`
S>) _moQ>ma dmhZ H$m`Xm 1988

àíZ àíZ àíZ àíZ àíZ 3) A) {då`mÀ`m hßË`mMo {d{dY àH$ma ñnï> H$am. [8]
~) {d_m Am{U OmoIr_ ì`dñWmnZ V§Ì Vnerbdma ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) Xa JUZogmR>r {d{dY `moOZm gm§Jm. [8]
~) {d_m H$m`Xm (gwYmaUm) H$m`Xm 2015 A§VJ©V _hÎdmÀ`m H$b_m§Mo ñnï>rH$aU X²̀ m.[7]





Q1) A) Fill in the blanks : [5]

i) FTP Stands for __________

a) Fine Transfer Protocol b) File Transfer Protocol

c) First Transfer Protocol d) Fast Transfer Protocol

ii) A _________ is a set of computers that are connected so they can
share information.

a) Computer network b) Nodes

c) Hub d) Router

iii) A _____________ is an address generated by the CPU during
program execution.

a) Physical address b) Locator

c) Rote device d) Logical address

iv) _________ is a type of network topology in which all devices in
the network are interconnected.

a) Mesh topology b) Ring topology

c) Bus topology d) Tree topology

v) Network architecture refers to the way network devices and services
are structured to serve the connectivity needs of ________ devices.

a) Producers b) Client

c) Retailers d) Wholesalers
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B) Match the following : [5]

i) WAN a) guided media

ii) Ethernet b) wireless network connection

iii) Flipkart c) Wide Area Network

iv) Twisted Pair Cables d) e-commerce company

v) Wi-Fi e) wired system

Q2) Short Notes (Any 2 out of 4) : [10]

a) Wired LANs

b) Bluetooth

c) Modes of Communication

d) Infrared Transmission

Q3) a) What is Computer Topology? Explain types of Networks in detail.
[8]

b) Explain layers in the OSI Model and explain the functions of each
layer. [7]

Q4) a) Define Network Interface Cards. Explain the functions of Network
Interface Cards. [8]

b) What is E-Commerce? Explain digital methods of payments. [7]


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Q1) A) Fill in the blanks by selecting suitable choice (Any Five): [5]
a) _____ is regarded as a queen of Indian Financial System.

i) SEBI ii) RBI
iii) Finance Ministry iv) BSE

b) The headquarters of CARE is in ____________ ?
i) Mumbai ii) New Delhi
iii) Noida iv) Gurugram

c) The first step of financial planning process is ________ .
i) Gathering client data, including goals
ii) Analysing and evaluating current situation and needs
iii) Establishing and defining client relationship
iv) Implementing the recommendations

d) Cost of capital is a ______ concept in financial management.
i) Central ii) Departmental
iii) Dual iv) None of the above

e) In weighted average cost of capital, a company can affect its capital
cost through ________ .
i) Policy of capital structure ii) Policy of dividends
iii) Policy of investment iv) All of the above

f) Dividend is paid only on _________ .
i) Loans ii) Debentures
iii) Bonds iv) Shares

P.T.O.
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B) Match the following: [5]

Group A Group B

a) Financial planning i) 1875

b) Bombay Stock Exchange ii) Low rate of return on Capital

c) National Stock Exchange iii) Determination of financial policies

d) Over Capitalization iv) 1992

e) Under Capitalization v) High rate of return on Capital

Q2) Write Short Notes (Any Two): [10]

a) Stock Exchange

b) Steps in Financial Planning

c) Over Capitalization

d) Difference between Owned Capital and Borrowed Capital.

Q3) a) What is ‘Corporate Finance’? Explain the executive and routine functions
of corporate finance. [8]

b) What is ‘Financial Planning’? Explain the importance and Characteristics
of Financial Planning. [7]

Q4) a) What is ‘Capitalization’? Explain factors governing Capitalization. [8]

b) Explain in detail various sources of Capital. [7]


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à.à.à.à.à.1) A) ¶mo½¶ n¶m©¶mMr {ZdS> H$ê$Z [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) ............... ¶m§Zm ^maVr¶ {dÎmr¶ ì¶dñWoMr amUr åhQ>bo OmVo.

A) go~r ~) Ama~rAm¶
H$) AW© ‘§Ìmb¶ S>) ~rEgB©

ii) CARE Mo ‘w»¶mb¶ ............ ¶oWo Amho.
A) ‘w§~B© ~) Zdr {X„r
H$) ZmoES>m S>) Jwê$J«m‘

iii) {dÎmr¶ {Z¶moOZ à{H«$¶oMr ............ n{hbr nm¶ar Amho.
A) C{Ôï>m§gh ³bm¶§Q> S>oQ>m Jmoim H$aUo
~) gÚ n[apñWVr Am{U JaOm§Mo {díbofU Am{U ‘yë¶‘mnZ H$aUo
H$) J«mhH$ g§~§Y ñWm{nV H$aUo Am{U n[a^m{fV H$aUo
S>) {e’$maerMr A§‘b~OmdUr H$aUo

iv) ^m§S>dbmMr qH$‘V hr Am{W©H$ ì¶dñWmnZmV EH$ ........... g§H$ënZm Amho.
A) ‘Ü¶dVu ~) {d^mJr¶
H$) Xþhoar S>) darbn¡H$s H$mhrhr Zmhr

v) ^m§S>dbmÀ¶m ^arV gamgar IMm©‘Ü¶o EImXr H§$nZr Ë¶mÀ¶m ^m§S>dbr IMm©da n[aUm‘
H$ê$ eH$Vo.
A) ^m§S>dbr g§aMZoMo YmoaU ~) bm^m§e YmoaU
H$) J§wVdUwH$sMo YmoaU S>) darb gd©

vi) bm^m§e ’$º$ ............... da {Xbm OmVmo.
A) H$O© ~) H$O©amoIo
H$) ~§YnÌo S>) ^mJ
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~) OmoS>çm bmdm. [5]

JQ> A JQ> ~

i) Am{W©H$ {Z¶moOZ A) 1875

ii) ~m°å~o ñQ>m°H$ E³gM|O ~) ^m§S>dbmda naVmdm H$‘r Xa

iii) amï´>r¶ eoAa ~mOma H$) Am{W©H$ YmoaUm§Mo {ZYm©aU

iv) OmñV ^m§S>dbrH$aU S>) 1992

v) H$‘r ^m§S>dbrH$aU B) ^m§S>dbmda naVmì¶mMm Cƒ Xa

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) amoIo ~mOma

~) Am{W©H$ {Z¶moOZmVrb Q>ßno

H$) OmñV ^m§S>dbrH$aU

S>) ‘mbH$sMo ^m§S>db Am{U H$Om©D$ ^m§S>dbmVrb ’$aH$

à.à.à.à.à.3) A) "ì¶mdgm{¶H$ {dÎmnwadR>m' åhUOo H$m¶? ì¶mdgm{¶H$ {dÎmnwadR>çmMr H$m¶©H$mar Am{U {Z¶{‘V
H$m¶} ñnï> H$am. [8]

~) "Am{W©H$ {Z¶moOZ' åhUOo H$m¶? Am{W©H$ {Z¶moOZmMo ‘hÎd Am{U d¡{eï>ço ñnï> H$am. [7]

à.à.à.à.à.4) A) "^m§S>dbrH$aU' åhUOo H$m¶? ^m§S>dbrH$aU {Z¶§{ÌV H$aUmao KQ>H$ ñnï> H$am. [8]

~) ^m§S>dbmMo {d{dY òmoV Vnerbdma ñnï> H$am. [7]


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Q1) A) Fill in the blanks (any Five). [5]
i) The Banking Regulation Act came into effect from _______ .

a) 16th March 1949 b) 10th March 1949
c) 12th March 1950 d) 6th March 1950

ii) Who is a drawee of a cheque?
a) Account holder
b) The person who receives the money mentioned in the cheque
c) Indorser
d) The drawer’s bank

iii) Punishment for dishonor of  a cheque as under section 138 of the
Negotiable Instruments Act, 1881 is
a) Upto 2 years jail
b) Fine to the tune of double the amount of cheque
c) (a) and (b) both
d) Neither (a) nor (b)

iv) Banking Ombudsman means any person appointed under clause
_______ the Banking Ombudsman Scheme, 2006
a) 3 b) 4
c) 5 d) 6

P.T.O.
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v) Who among the following could be a banking ombudsman?
a) Officer of the RBI of the rank of Chief General Manager
b) Officer of the RBI of the rank of General Manager
c) Deputy Governor, RBI in charge of the department

implementing the scheme
d) Either (a) or (b)

vi) A creditor in whose favour security interest is created is called
a) Mortgator b) Pawnor
c) Bailor d) Secured creditor

B) Match the following : [5]
i) Banking Regulation a) Bill of Exchange

(Amendment) Act,
ii) Financial Information of a b) 2016

person as on a certain date
iii) Promissory Note c) September 2020
iv) Cheque d) Financial Position
v) Insolvency and Bank ruptcy code e) Unconditional Undertaking

Q2) Short Notes (Any 2): [10]
a) Restrictions on loans and advances as under section 20 of the Banking

Regulation Act, 1949.
b) Complaint as under the Banking Ombudsman Scheme, 2006.
c) Financial Information as under section 5(13) of the Insolvency and

Bankruptcy Code, 2016.
d) Difference between features of cheque and bill of exchange.

Q3) a) Explain in detail the power of the RBI pertaining to inspection of Banking
Companies as under section 35 of the Banking Regulation Act, 1949.[8]

b) Explain in detail the following provisions of the Negotiable Instruments
Act, 1881. [7]
i) Holder
ii) Negotiable Instrument

Q4) a) Explain the fast track corporate insolvency resolution process with
reference to [8]
i) Time period for its completion (Section 56)
ii) Manner of initiating the resolution (Section 57)

b) What is the procedure for filing a complaint under the Banking
Ombudsman Scheme, 2006. [7]





3[6142]-519

Total No. of Questions : 4]

[6142]-519
T.Y. B.Com.

ADVANCED BANKING AND FINANCE
356 (B) : Banking Law and Practices in India - I

(2019 Pattern) (Semester - V) (Credit System) (Special Paper - III)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) CÎmao ‘wÔogwX d g§~§{YV H$m¶ÚmVrb ¶mo½¶ Ë¶m H$b‘m§Zm AZwgê$Z X¶mdrV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P5899

à.à.à.à.à.1) A) ¶mo½¶ Vmo n¶m©¶ {ZdSy>Z Jmiboë¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) ~±qH$J {Z¶‘Z H$m¶Xm ............. nmgyZ A§‘bmV Ambm.

A) 16 ‘mM© 1949 ~) 10 ‘mM© 1949
H$) 12 ‘mM© 1950 S>) 6 ‘mM© 1950

ii) YZmXoemVrb AmXo{eVr H$moU AgVmo?
A) ImVoYmaH$ ~) YZmXoemVrb a¸$‘ Á¶mg Xo¶H$ Amho Vmo
H$) n¥ð>m§{H$Vr S>) AmXoeH$mMr ~±H$

iii) MbZj‘ XñVEodO H$m¶Xm, 1881 H$b‘ 138 A§VJ©V YZmXoemÀ¶m AZmXamMr {ejm
{H$Vr Amho?
A) XmoZ dfmª n¶ªVMm H$mamdmg ~) YZmXoemÀ¶m aH$‘oÀ¶m XþßnQ> aH$‘oMm X§S>
H$) (A) Am{U (~) XmoÝhr S>) (A) Am{U (~) XmoÝhr Zmhr

iv) ~±qH$J bmoH$nmb ¶moOZm, 2006 H$b‘ .......... A§VJ©V {Z¶wº$ Ho$boë¶m ì¶{º$g ~±qH$J
bmoH$nmb Ago åhUVmV.
A) 3 ~) 4
H$) 5 S>) 6

v) Imbrbn¡H$s H$moUVr ì¶º$s ~±qH$J bmoH$nmb hmoD$ eH$Vo?
A) ^maVr¶ [aµOd© ~±Ho$À¶m à‘wI OZab ì¶dñWmnH$ nmVirMm A{YH$mar
~) ^maVr¶ [aµOd© ~±Ho$Mm gmYmaU ì¶dñWmnH$ nmVirMm A{YH$mar
H$) gXa ¶moOZoMr A§‘b~OmdUr H$aUmè¶m {d^mJmMm ^maVr¶ [aPd© ~±Ho$Mm S>oß¶wQ>r JìhZ©a
S>) (A) qH$dm (~)

vi) Or ì¶º$s Á¶mÀ¶m njmV amo»¶mVrb {hVg§~§Y {Z‘m©U H$aÊ¶mV Ambo AmhoV.
A) VmaUH$Vm© ~) JhmUH$Vm©
H$) ~oba S>) gwa{jV YZH$mo
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~) OmoS>çm Owidm. [5]

i) ~±qH$J {Z¶‘Z (gwYmaUm) H$m¶Xm A) {d{Z‘¶nÌ

ii) EH$m {d{eï> VmaIog ì¶º$sMr {dÎmr¶ ‘m{hVr ~) 2016

iii) dMZ{MÇ>r H$) gßQ>|~a 2020

iv) YZmXoe S>) {dÎmr¶ pñWVr

v) {XdmiImoar Am{U ZmXmar g§{hVm B) {dZmAQ> h‘r

à.à.à.à.à.2) Q>rnm {bhm. (H$moUË¶mhr XmoZ) [10]

A) ~±qH$J {Z¶‘Z H$m¶Xm, 1949 H$b‘ 20 A§VJ©V Agboë¶m H$O© d A{J«‘m§darb {Z~ªYo

~) ~±qH$J bmoH$nmb ¶moOZm, 2006 A§VJ©V "VH«$ma'

H$) {XdmiImoar Am{U ZmXmar g§{hVm, 2016 H$b‘ 5(13) Zwgma {dÎmr¶ ‘m{hVr

S>) YZmXoe d {d{Z‘¶ nÌ ¶m§‘Yrb d¡{eï>m§À¶m AmYmamda ’$aH$.

à.à.à.à.à.3) A) ~±qH$J {Z¶‘Z H$m¶Xm, 1949 À¶m H$b‘ 35 À¶mZwgma ~±qH$J H§$nÝ¶m§À¶m VnmgUr g§X^m©Vrb
^maVr¶ [aPìh© ~±Ho$Mo gm‘Ï¶© ñnï> H$am. [8]

~) MbZj‘ XñVEodO H$m¶Xm, 1881 Imbrb ~m~tgX^m©Vrb VaVwXr ñnï> H$am. [7]

i) YmaH$

ii) MbZj‘ XñVEodO

à.à.à.à.à.4) A) CÚmoJg§ñW§mÀ¶m {XdmiImoarÀ¶m ObXJVr {ZamH$maUmMr à{H«$¶m Imbrb H$b‘m§Vrb VaVwXtZm
AZwgê$Z ñnï> H$am. [8]

i) gXa à{H«$¶m nyU© H$aÊ¶mMm H$mbmdYr (H$b‘ 56)

ii) {ZamH$maUmMr gwê$dmV H$aÊ¶mMr nÕV (H$b‘ 57)

~) ~±qH$J bmoH$nmb ¶moOZm 2006 A§VJ©V VH«$ma XmIb H$aÊ¶mMr nÕVr H$m¶ Amho? [7]


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Q1) A) Fill in the blank with the most appropriate alternative (any Five). [5]

i) Territorial water of India extends up to ______ nautical miles into
the sea from the appropriate baseline.

(12, 14, 16)

ii) Any goods, the import or export of which is subject to any prohibition
under the Customs Act or any Other law for the time being in force,
is known as _______ .

(Imported goods, Prohibited goods, Forbid goods)

iii) GST is levied on the supply of _________.

(Goods, Services, Goods & Services)

iv) Article _______ of the Constitution empowered the President to
Constitute Goods and Service Tax Council.

(246 A, 269 A, 279 A)

v) GST was introduced as the _______ Amendment Act.

(100, 101, 102)

vi) HSN stands for ________.

(Harmonized System of Nomenclature, Harmonized System
Number, Harmonized Study of Nomenclature)

P.T.O.
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B) Match the following. [5]

Column - A Column - B

i) 1st July 2017 GST Implemented a) France

ii) Cheese b) 3%

iii) Edible oil c) India

iv) 1st Country who implement GST d) 12%

v) Gold e) 5%

Q2) Write a short notes (Any 2) [10]

a) Transaction Value (Customs Act 1962).

b) Central and State Taxes Included Under GST.

c) Explain the concept of CGST, SGST and IGST.

d) Types of GST Returns.

Q3) a) Explain the provisions of Customs Act, 1962 with regard to grant of
exemption from custom duty. [8]

b) Explain in brief Constitutional Background & Introduction of Goods &
Service Tax in India. [7]

Q4) a) What is GST Exemption? Explain Exempted goods under GST. [8]

b) Explain the applicability of audit under GST. [7]


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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) ^maVmMo àmXo{eH$ nmUr ¶mo½¶ AmYmaaofonmgyZ g‘wÐmV ........... gmJar ‘¡bm§n¶ªV ngabobo Amho.

(12, 14, 16)

ii) H$moUVrhr dñVy qH$dm ‘mb, Á¶mMr Am¶mV qH$dm {Z¶m©V gr‘mewëH$ H$m¶Úm§VJ©V H$moUË¶mhr
à{V~§YmÀ¶m AYrZ Amho qH$dm gÜ¶m A§‘bmV Agboë¶m BVa H$moUË¶mhr H$m¶ÚmÀ¶m
AYrZ Amho, Ë¶mg .............. åhUyZ AmoiIbo OmVo.

(Am¶mVdñVy, à{V~§{YV dñVy, {Z{fÕ dñVy)

iii) OrEgQ>r hm ........... À¶m nwadR²>¶mda AmH$mabm OmVmo.

(dñVy, godm, dñVy Am{U godm)

iv) amÁ¶KQ>ZoÀ¶m H$b‘ ......... Zo amï´>nVtZm dñVy d godm H$a n[afX ñWmnZ H$aÊ¶mMm
A{YH$ma {Xbm Amho.

(246A, 269A, 279A)

v) OrEgQ>r ........... Xþê$ñVr H$m¶Xm åhUwZ gmXa H$aÊ¶mV Ambm.

(100, 101, 102)

vi) EM.Eg.EZ. åhUOo ...................

(hm‘m}ZmBO {gñQ>‘ Am°’$ Zm°‘Z³bÀ¶a, hm‘m}ZmBO {gñQ>‘ Z§~a, hm‘m©oZmBO ñQ>S>r Am°’$
Zm°‘Z³bÀ¶a)
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~) OmoS>çm Owidm. [5]

aH$mZm - A aH$mZm - ~

i) 1 Owb¡ 2017 amoOr OrEgQ>r bmJy A) ’«$mÝg

ii) MrP ~) 3%

iii) ImÚVob H$) ^maV

iv) OrEgQ>r bmJy H$aUmam n{hbm Xoe S>) 12%

v) gmoZo B) 5%

à.à.à.à.à.2) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr 2) [10]

A) ì¶dhma ‘yë¶ (gr‘m ewëH$ H$m¶Xm, 1962)

~) OrEgQ>r A§VJ©V g‘m{dï> Ho$bo OmUmao H|$Ðr¶ Am{U amÁ¶ H$a

H$) grOrEgQ>r, EgOrEgQ>r Am{U Am¶OrEgQ>r ¶m g§H$ënZm ñnï> H$am.

S>) OrEgQ>r [aQ>Z©Mo (naVmdm) àH$ma

à.à.à.à.à.3) A) gr‘mewëH$mVyZ gyQ> XoÊ¶mg§X^m©V gr‘mewëH$ H$m¶Xm, 1962 ‘Yrb VaVwXr ñnï> H$am. [8]

~) ^maVmVrb dñVy Am{U godm H$amMr KQ>ZmË‘H$ nmœ©̂ y‘r Am{U AmoiI WmoS>³¶mV ñnï> H$am.[7]

à.à.à.à.à.4) A) OrEgQ>r gyQ> åhUOo H$m¶? OrEgQ>r A§VJ©V gyQ> {‘iUmè¶m dñVy ñnï> H$am. [8]

~) OrEgQ>r A§VJ©V boImnarjUmMr Cn¶wº$Vm WmoS>³¶mV ñnï> H$am. [7]





Total No. of Questions : 4]

[6142]-521
T.Y. B.Com.

356 (D) : CO-OPERATION AND RURAL DEVELOPMENT - III
(2019 Pattern) (CBCS) (Semester - V) (Special Paper - III)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P5901 [Total No. of Pages : 4
SEAT No. :

Q1) A) Fill in the blanks (Any Five): [5]
a) Co-operative principles was adopted in ______ by I.C.A in

manchester congress.
i) 1964 ii) 1995
iii) 1934 iv) 1994

b) Human resource management helps to improve ______ .
i) Production ii) Productivity
iii) Profit iv) Power

c) Which of the following is not a technique of ______ Recruitment.
i) Interview ii) Performance Appraisal
iii) Psychometric test iv) Ability Test

d) Co-operative management was originated first in ________.
i) Spain ii) France
iii) England iv) Japan

e) To formulate overall policy of co-operative training is an objective
of _________ .
i) Co-operating plan ii)  Co-operative formulation
iii) Co-operative management iv) Co-op. members

f) Vaikunthbhai Mehta Institute is situated in _____ city.
i) Mumbai ii)  Pune
iii) Nagpur iv) Thane

P.T.O.
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B) Match the following pairs: [5]

A B

a) Management of Co-operative i) Development of employee

societies

b) Top level management ii) Selection of alternative

c) Function of H.R.D. iii) Co-operative management

d) Decision making process iv) Policy Decisions

e) Co-operative Training v) Recruitment of employee

Q2) Write Short Notes (Any Two): [10]

a) Ethics in co-operative management.

b) Role of  co-operative management.

c) Managerial Development.

d) Importance of decision making.

Q3) a) Define co-operative management. State its scope. [8]

b) State the evaluation of co-operative management. [7]

Q4) a) State the mechanism of co-operative training. [8]

b) State the process of Decision making in co-operatives. [7]


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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) ghH$mamMr VÎdo Am¶.gr.E. Zo ‘±MoñQ>a H$m±J«og ‘Ü¶o ............... ¶m dfu ñdrH$mabr.

A) 1964 ~) 1995

H$) 1934 S>) 1994

ii) ‘mZd g§gmYZ ì¶dñWmnZ .............. gwYmaÊ¶mg ‘XV H$aVo.

A) CËnmXZ ~) CËnmXH$Vm

H$) Z’$m S>) D$Om©

iii) Imbrbn¡H$s ............. ho ^aVrMo V§Ì Zmhr.

A) ‘wbmIV ~) H$m‘Jrar ‘wë¶‘mnZ

H$) ‘mZgemñÌr¶ MmMUr S>) g‘Vm MmMUr

iv) ghH$ma ì¶dñWmnZmMr CËnÎmr gd©àW‘ ............. ¶oWo Pmbr.

A) ñnoZ ~) ’«$mÝg

H$) B§½b§S> S>) OmnmZ

v) ghH$mamVrb à{ejUmgmR>r gd©g‘mdoeH$ YmoaU R>a{dUo ho ................. Mo C{Xï> Amho.

A) ghH$mamVrb {Z¶moOZ ~) ghH$mamMr C^maUr

H$) ghH$mar ì¶dñWmnZ S>) ghH$mar g^mgX

vi) d¡H§w$R>^mB© ‘ohVm BÝñQ>rQ>çyQ> ............... ¶m ehamV Amho.

A) ‘w§~B© ~) nwUo

H$) ZmJnya S>) R>mUo
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~) Imbrb OmoS>çm Owidm. [5]

A ~

i) ghH$mar g§ñWm§Mo ì¶dñWmnZ A) H$‘©Mmar {dH$mg

ii) Cƒ ñVar¶ ì¶dñWmnZ ~) n¶m©¶m§Mr ¶mo½¶ {ZdS>

iii) ‘mZd g§gm§YZ {dH$mg H$m¶© H$) ghH$ma ì¶dñWmnZ

iv) {ZU©¶ KoÊ¶mMr à{H«$¶m S>) YmoaUmË‘H$ {ZU©¶

v) ghH$mar à{ejU B) H$‘©Mmar ^aVr H$aUo

à.à.à.à.à.2) WmoS>³¶mV Q>rnm {bhm. (H$moUË¶mhr XmoZ) [10]

A) ghH$ma ì¶dñWmnZmVrb Z¡{VH$Vm

~) ghH$mar ì¶dñWmnZmMr ŵ{‘H$m

H$) ì¶dñWmnZr¶ {dH$mg

S>) {ZU©¶ à{H«$¶oMo ‘hÎd

à.à.à.à.à.3) A) ghH$ma ì¶dñWmnZmMr ì¶m»¶m Úm. VgoM Ë¶mMr ì¶már gm§Jm. [8]

~) ghH$ma ì¶dñWmnZmMo ‘wë¶m§H$Z gm§Jm. [7]

à.à.à.à.à.4) A) ghH$mamVrb à{ejUmgmR>rMr ¶§ÌUm gm§Jm. [8]

~) ghH$mar g§ñWoVrb {ZU©¶ à{H«$¶m gm§Jm. [7]


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Q1) A) Fill in the blanks (any five): [5]

a) Marginal Costing is also known as _________ .

i) Indirect Costing

ii) Variable Costing

 iii) Fixed Costing

b) Budget is a written plan of ____________ .

i) Action

ii) Reaction

iii) Environment

c) Uniform Costing helps an individual firm in cost ________.

i) Ascertainment

ii) Allocation

iii) Control

d) MIS normally found in a manufacturing organization will not be
suitable in the _________ .

i) Service Sector

ii) Banking Sector

iii) Agriculture Sector

P.T.O.
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e) ______ is the management of the flow of goods and services and
includes all processes that transform raw material into final products.

i) Management Information System

ii) Cost Management System

iii) Supply Chain Management

f) ______ is a document, booklet or a bulletin in written form
containing instructions to be followed in connection with cost
ascertainment and cost control.

i) Uniform Cost Manual

ii) Inter-firm comparison

iii) Uniform Costing

B) Match the pairs (any five): [5]

Group A Group B

a) Margin of safety i) Uniform Costing

b) Forecast of cash position ii) MIS

c) Used by several undertaking iii) Actual Sales - Break Even Sales

same costing principles and

practice

d) Computer system in an iv) Supply Chain Management

enterprise to provide information

about business operations

e) SCM v) Cash Budget

Q2) Write Short Notes (any two): [10]

a) Make or Buy Decision

b) Sales Budget

c) Features of supply Chain Management

d) Limitations of Inter-firm comparison
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Q3) a) From the following information you are require to calculate: [8]

i) P/V ratio

ii) Fixed Cost

iii) BEP (Sales)

iv) Margin of safety for period 1

Period Sales (Rs.) Profit (Rs.)

1 1,00,000   9,000

2 1,50,000 14,000

The expenses budgeted for the production at 60% capacity of OM
Industries are given below:

b) Define the term Uniform Costing. State the objectives of Uniform Costing.
[7]

Q4) a) The expenses budgeted for the production at 60% capacity of OM
Industries are given below: [8]

Particulars Amount (Rs.)

Variable Overhead

Indirect Material 6,000

Indirect Labour 18,000

Semi-Variable Overhead

Electricity (40% fixed) 30,000

Repairs (80% fixed) 3,000

Fixed Overheads

Depreciation 16,500

Insurance 4,500

Salaries 15,000

Estimated direct labour hours 1,86,000

You are require to prepare Flexible Budget at 50%, 60%, 70% capacity
also calculate overhead rate:

b) What is Management Information System? State the important features
of Management Information System. [7]


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Q1) a) Fill in the blanks (Any five) [5]

i) In same theory, if maximin   minimax then there does not exist
_______ point.

ii) P-Chart is used to control ________.

iii) C-Chart is used to control ________.

iv) In replacement problem, maintenance cost is always ________.

v) Electric fluctuation is belonging to ______ causes.

vi) We use ________ criteria to average the elements of pay off of
corresponding strategy.

b) State whether each of the statement given below is true or false (any
five): [5]

i) If value of the game is zero then game is called as fair game.

ii) Control charts are applying on continuous production process.

iii) P-Chart is used to control proportion of defectives.

iv) In sequencing problem we can use value of money which remains
the same during the period.

v) In two person zero-sum game, value of the game is always zero.

vi) If quantity in hand is less than demand then there exist opportunity
loss.

P.T.O.
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Q2) Attempt any two of the following: [5 each]

a) Solve the following game:

Player B

Player A 
A
A
A

B B B







  

   
    
    

b) The pieces of cloth in 10 different rolls contain following number of
defects:

3,0,2,7,4,2,1,3,7,1.

Construct C-Chart. Comment.

c) Explain the following terms:

i) State of nature

ii) Tolerance limits

iii) State any two causes each from the assignable causes.

iv) Give any two business situations where game theory can be used.

v) Give any two business situations where replacement problem can
be used.

d) What do you mean by control limits? What purpose do they serve in
control charts?

Write control limits for P - Chart.

Q3) a) A machine is set to deliver packets of given tensile strength 10 samples
of size 5 each were recorded as follows: [8]
Sample No. 1 2 3 4 5 6 7 8 9 10

Mean 15 17 15 18 17 14 18 15 17 16

Range 7 7 4 9 8 7 12 4 11 5

Construct control charts for mean and range, Also comment on whether
the process seems to be under control. (Use n = 5, A2 = 0.577, D3 = 0,
D4 = 2.115)



3[6142]-523

b) From the following pay off table (of profit) defermine optimal strategy
using maximin, maximax, Laplace and Hurwicz criterion. [7]

Take .   

Demand    A1 A2 A3 A4

Stock 
S1 16 10 12 7
S2 13 12 9 9
S3 11 14 15 14

Q4) a) A machine owner finds from his past records that the maintenance costs
per year of a machine whose purchase price is Rs. 8000 are as given
below: [8]
Year 1 2 3 4 5 6 7 8
Maintenance 1000 1300 1700 2200 2900 3800 4800 6000
Cost (Rs.)
Resale Cost 4000 2000 1200 600 500 400 400 400
(Rs.)
Determine at which time it is profitable to replace the machine.

b) Write the pay off matrix for the given situation. The demand for Vadapav
in the morning may be 21,22,23,24 and 25 with probabilities 0.1,0.15,
0.2,0.25 and 0.3 respectively. Making cost and selling price of one Vadapav
is Rs. 8 and Rs.10 respectively. Balance Vadapav is treated as waste.
Also obtain regret table. How much Vadapav should be make using EOL
criteria? [7]


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Q1) A) Fill in the blanks (Any 5) [5]
a) Organizational behaviour is ________.

i) Science

ii) An Art

iii) A Science and an Art

b) Scope of organizational behaviour in entrepreneurship does not
include _______.

i) job description

ii) leadership

iii) technology

c) ______ is a study of individual behaviour.

i) Psychology

ii) Sociology

iii) Anthropology

d) Attitudes affect _________ at a different level.

i) personality

ii) behaviour

iii) perception

P.T.O.
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e) Baba Kalyani joined Bharat Forge in the year ________.
i) 1970
ii) 1971
iii) 1972

f) When designing reward system for teams, it is best to encourage
cooperative efforts rather than _________ ones.
i) competitive
ii) individual
iii) cooperative

B) Match the following. [5]
 Group A  Group B

a)      Organizational Behaviour i) Biological & Individual
Factors

b) Determinants of Individual ii) Committees
Behaviour

c) Shiv Nadar iii) Normative Approach
d) Formal Group iv) Helping Behaviour
e) Group Cohesion v) Indian Industrialist

Q2) Write Short Notes (any 2) [10]
a) Need of organizational behaviour for entrepreneurship.
b) Characteristics of individual behaviour.
c) Mr. Baba Kalyani (MD. Bharat Forge).
d) Group formation process.

Q3) a) What is organizational behaviour? Explain merits and demerits of organi-
zational behaviour for entrepreneurship. [8]

b) Explain the determinants of individual behaviour in entrepreneurship. [7]

Q4) a) What is entrepreneur? Explain the autobiography of entrepreneur Mr.
Anand Mahindra. [8]

b) Explain in detail the group structure. [7]


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P5904

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) g§ñWmË‘H$ dV©Z ................ Amho.

A) EH$ {dkmZ
~) EH$ H$bm
H$) EH$ {dkmZ Am{U EH$ H$bm

ii) CÚmoOH$VoVrb g§ñWmË‘H$ dV©ZmÀ¶m ì¶már‘Ü¶o .................... g‘m{dï> Zmhr.
A) H$m‘mMo ñdê$n
~) ZoV¥Ëd
H$) V§ÌkmZ

iii) ................... hm d¡¶{º$H$ dV©ZmMm Aä¶mg Amho.
A) ‘mZgemó
~) g‘mOemó
H$) ‘mZdd§eemó

iv) d¥Îmr doJù¶m .................. ñVamda n[aUm‘ H$aVmV.
A) ì¶{º$‘Ëd
~) dV©Z
H$) g‘O

v) ~m~m H$ë¶mUr .................... ¶m dfu ^maV ’$moO©‘Ü¶o éOy Pmbo.
A) 1970
~) 1971
H$) 1972
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vi) g§Km§gmR>r ~jrg àUmbr V¶ma H$aVmZm, ............ nojm ghH$mar à¶ËZm§Zm àmoËgmhZ XoUo
Mm§Jbo.

A) ñnYm©Ë‘H$

~) d¡¶{º$H$

H$) ghH$mar

~) OmoS>²¶m bmdm. [5]
JQ> ‘A’ JQ> ‘~’

i) g§KQ>ZmË‘H$ dV©Z A) O¡{dH$ Am{U d¡¶{º$H$ KQ>H$

ii) d¡¶{º$H$ dV©ZmMo {ZYm©aH$ ~) g{‘Ë¶m

iii) {ed ZmS>a H$) gm‘mÝ¶ Ñï>rH$moZ

iv) Am¡nMm[aH$ JQ> S>) ‘XV H$aUmao dV©Z

v) JQ> gm‘§Oñ¶ B) ^maVr¶ CÚmoJnVr

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) CÚmoOH$VogmR>r g§KQ>ZmË‘H$ dV©ZmMr JaO.

~) d¡¶{º$H$ dV©ZmMr d¡{eï²>¶o.

H$) lr ~m~m H$ë¶mUr (E‘. S>r. ^maV ’$moO©).

S>) JQ> {Z{‘©Vr à{H«$¶m.

à.à.à.à.à.3) A) g§KQ>ZmË‘H$ dV©Z åhUOo H$m¶? CÚmoOH$VogmR>r g§ñWmË‘H$ dV©ZmMo JwU Am{U Xmof ñnï> H$am.[8]

~) CÚmoOH$VoVrb d¡¶{º$H$ dV©ZmMo {ZYm©aH$ KQ>H$ ñnï> H$am. [7]

à.à.à.à.à.4) A) CÚmoOH$ åhUOo H$m¶? CÚmoOH$ lr AmZ§X ‘qhÐm ¶m§Mo AmË‘M[aÌ ñnï> H$am. [8]

~) JQ> aMZm g{dñVa ñnï> H$am. [7]


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Q1) A) Fill in the Blank (Any 5) [5]
i) Advertising on a computer screen or text is called ____________

advertisement.
a) Pop-under b) Pop-up
c) Floating d) Hefitart

ii) ______ Advertisement which is made to motivate customers to
buy.
a) Direct b) Indirect
c) Written d) Oral

iii) The _______ in advertising is the explanation given through
advertisements for customers to buy goods or serries by inspiring
customers motivations.
a) Message b) Structure
c) Appeal d) Ethics

iv) Durability of an item is an important ________ motivation to buy
an item.
a) Logical b) Mental
c) Physics d) Economical

v) The main/Head office of standard council of Advertising in India is
in ________.
a) Delhi b) Colcutta
c) Chennai d) Mumbai

vi) A product is registered under trade and merchantise Act _______.

a) 1956 b) 1957

c) 1958 d) 1959
P.T.O.
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B) Match the following. [5]

i) Radio a) Negative Emotional
Approach

ii) Wallpaper Advertising b) Wastage of time

iii) Appeols of sorrow & guilt c) Audio media

iv) Prestige & propriter rights d) E-Advertising

v) Wrong time of selection of e) Positive Emotional Appeals

advertising

Q2) Write Short Notes (any 2 out of 4) [10]

a) Role of Advertising in modern era ?

b) Negative Emotional Approach.

c) Advertising and cultural values.

d) Brand Identity.

Q3) a) Explain the objectives of Advertising in detail. [8]

b) Explain the meaning and Importance of Advertising message. [7]

Q4) a) What is wastage in Advertising? Explain the types of wastage in
advertising? [8]

b) Explain the process of Branding in detail. [7]


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(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZ n{ÌH$m nhmdr.

P5905

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) g§JUH$mÀ¶m nS>X²¶mdê$Z qH$dm ‘OHy$amdê$Z {’$aUmè¶m Om{hamVrbm .............. Om{hamV

åhUVmV.
A) nm°n-A§S>a ~) nm°n-An
H$) Va§JUmar S>) g§H$moMj‘

ii) J«mhH$m§Zm ËdarV dñVy IaoXr H$aÊ¶mgmR>r, àoarV H$aÊ¶mgmR>r H$aÊ¶mV Ambobr Om{hamV
åhUOo ............. Om{hamV hmo¶.
A) àË¶j ~) AàË¶j
H$) {b{IV S>) Vm|S>r

iii) J«mhH$m§Zm àoarV H$ê$Z J«mhH$m§Zm dñVy qH$dm godm IaoXr H$aÊ¶mgmR>r Om{hamVt‘YyZ H$aÊ¶mV
Ambobo ñnï>rH$aU åhUOoM Om{hamVrVrb ........... hmo¶.
A) g§Xoe ~) aMZm
H$) AmdmhZ S>) {ZVr

iv) dñVy§Mm {Q>H$mD$nUm {h dñVw {dH$V KoÊ¶mMr ‘hËdmMr ............ àoaUm Amho.
A) Vm{H©$H$ ~) ‘mZ{gH$
H$) ^m¡{VH$ S>) Am{W©H$

v) ^maVr¶ Om{hamV à‘mUH$ n[afXoMo ‘w»¶ H$m¶m©b¶ ................ ¶oWo Amho.
A) {X„r ~) H$mobH$Îmm
H$) MoÞB© S>) ‘w§~B©

vi) CËnmXZmMo n§OrH$aU Q´>oS> A°ÊS> ‘Hª$Q>mB©O A°³Q>> ................. ¶m H$m¶X²¶mZwgma hmoVo.
A) 1956 ~) 1957
H$) 1958 S>) 1959
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~) OmoS>ç  Owidm. [5]
JQ> ‘A’ JQ> ‘~’

i) AmH$medmUr A) ZH$mamË‘H$ ^md{ZH$ Ñï>rH$moU

ii) dm°bnona Om{hamV ~) doioMm Anì¶¶

iii) Xþ…I d AnamYr AmdmhZo H$) lmì¶ ‘mÜ¶‘

iv) à{Vð>m d ‘mbH$s h¸$ S>) B©-Om{hamV

v) Om{hamVrgmR>r {ZdS>bobr MwH$sMr doi B) gH$mamË‘H$ ^md{ZH$ AmdmhZo

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) AmYw{ZH$ H$mimV Om{hamVrMr ŷ{‘H$m

~) ZH$mamË‘H$ ^md{ZH$ Ñï>rH$moZ

H$) Om{hamV Am{U gm§ñH¥${VH$ ‘wë¶o

S>) ‘wÐm AmoiI

à.à.à.à.à.3) A) Om{hamVrMr CX²XrîQ>ço g{dñVa ñnï> H$am. [8]

~) ‘Om{hamV g§Xoe’ AW© Am{U ‘hËd ñnï> H$am. [7]

à.à.à.à.à.4) A) ‘Om{hamVrVrb Anì¶¶’ åhUOo H$m¶? Om{hamVrVrb Anì¶¶mMo àH$ma g{dñVa ñnï> H$am.
[8]

~) ‘wÐm§H$ZmMr à{H«$¶m g{dñVa ñnï> H$am. [7]


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Q1) A) Fill in the blanks (Attempt any 5 out of 6) [5]

i) Special Economic zones are established mainly for _______.

(Increase in expert, capital formation, Rural Development,
infrastructual development)

ii) New Industrial policy was lauched in _______.

(1997, 1991, 1988, 1977)

iii) _______ credit institutions are main formal sourse of credit in
agriculture sector.

(Government, Public, Cooperative, Joint-stock)

iv) The ______ is the major base of Rural Economy.

(Industries, Infrastructure, Agriculture, Service sector)

v) The investment made by foreign entities in infrastruatural development
is called ________.

(FII, FDI, FEI, FAO)

vi) The _______ are the informal sourse of Agricultural credit

(Commercial banks, Money lender, foreign banks, private banks)

[Total No. of Pages : 4
SEAT No. :

P.T.O.
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B) Match the following [5]

i) Export promation a) Rural Economy

ii) Formal source of agricultural b) 1991

credit

iii) FDI & FII c) Cooperative Credit
Institutions

iv) Agro - based economy d) SEZ

v) Financial sector Reforms e) Foreign Investment

Q2) Write a short notes (Any 2 out of 4) [10]

a) Features of Rural Economy.

b) Need of sustairable agriculture.

c) Challenges of micro finance.

d) Impertance of agricultural credit.

Q3) a) Explain the sources of agricultural credit. [8]

b) Describe the interdepedance of agriculture & Industry. [7]

Q4) a) Explain the Role of foreign direct investment. [8]

b) Describe the challenges of agricultural credit. [7]


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[6142]-526
T.Y. B. Com.

356 (i) : AGRICULTURAL AND INDUSTRIAL ECONOMICS -III
(CBCS 2019 Pattern) (Semester - V)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) g§X^m©gmR>r ‘yi B§J«Or àíZ nÌrH$m nhmdr.

P5906

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) {deof Am{W©H$ joÌmMr ñWmnZm ‘wimV ............... gmR>r Pmbr.

({Z¶m©V dmT>, ^m§S>db {Z‘uVr, J«m‘rU {dH$mg, nm¶m ŷV gw{dYm§Mm {dH$mg)

ii) ............... ‘Ü¶o ZdrZ Am¡X²¶moJrH$ YmoaU ‘m§S>bo.

(1997, 1991, 1988, 1977)
iii) ................. nVg§ñWm eoVr joÌmbm {dÎmnwadR>²¶mMm ‘w»¶ Am¡nMmarH$ ómoV Amho.

(gaH$ma, bmoH$, ghH$mar, g§¶wº$ ^m§S>db)

iv) .................. hm J«m‘rU AW©ì¶dñWoMm ‘w»¶ nm¶m Amho.

(CX²¶moJ, nm¶m ŷV gw{dYm, eoVr joÌ, godm joÌ)

v) {dXoer CX²¶moJg§ñWm§Zr nm¶m ŷV gw{dYm§À¶m {dH$mgm gmR>r  Ho$bobr Jw§VdUyH$ åhUOo ............

(FII, FDI, FEI, FAO)
vi) .............. hm, H¥$fr {dÎm nwadR²>¶mMm AZm¡nMmarH$ ómoV Amho.

(ì¶mnmar ~±H$, gmdH$ma, {dXoer ~±H$, ImOJr ~±H$)

~) OmoS²>¶m Owidm. [5]
i) {Z¶m©V àmoËgmhZ A) J«m‘rU AW©ì¶dñWm

ii) H¥$fr {dÎm nwadR>²¶mMm Am¡nMmarH$ ómoV ~) 1991
iii) E’$ S>r Am¶ Am{U E’$ Am¶ Am¶ H$) ghH$mar nV g§ñWm

iv) H¥$fr AmYmarV AW©ì¶dñWm S>) goP

v) {dÎmr¶ gwYmaUm B) {dXoer Jw§VdUyH$
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à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) J«m‘rU AW©ì¶dñWoMr d¡{eï>²¶o

~) emñdV eoVrMr JaO

H$) gyú‘ {dÎmmg‘moarb AmìhmZo

S>) H¥$fr {dÎmmMo ‘hËd

à.à.à.à.à.3) A) H¥$fr {dÎmnwadR>²¶mMo ómoV ñnï> H$am. [8]

~) H¥$fr d CX²¶moJm§Mo nañnamdb§~Z ñnï> H$am. [7]

à.à.à.à.à.4) A) {dXoer àË¶j Jw§VdUyH$sMr ŵ{‘H$m gm§Jm. [8]

~) H¥$fr {dÎmmg‘moarb AmìhmZo ñnï> H$am. [7]


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Q1) Attempt any five of the following. [5×2=10]

a) Define financial management.

b) Define the economic system.

c) Define public good.

d) Define micro economics.

e) What is Defence Scientific Information?

f) State the defence budget structure.

Q2) Attempt any four of the following. [4×5=20]

a) Financial advisor.

b) Defence account department.

c) Defence Science Library.

d) Micro economics.

e) Defence Documentation Centre.

[Total No. of Pages : 4
SEAT No. :

P.T.O.
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Q3) Attempt any four of the following. [4×5=20]

a) State economical theory of Defence.

b) Explain India’s Sea-based Ballistic Missile Defence Interceptor.

c) Explain the defence and development.

d) Explain principles of the financial system.

e) Explain the defence budget allocation.

Q4) Attempt any two of the following. [2×10=20]

a) Explain in detail the role of India’s theater Commands.

b) Explain in detail the role of the defence account department.

c) Explain in detail the structure of a five years defence plan.


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2) COdrH$S>rb A§H$ JwU Xe©{dVmV.

P5907

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr nmM àý gmoS>dm. [5×2=10]

A) ’$m¶ZmpÝe¶b ‘°ZoO‘|Q> ì¶m»¶m Úm.

~) Am{W©H$ ì¶dñWm ì¶m»¶m Úm.

H$) npãbH$ JwS> ì¶m»¶m Úm.

S>) ‘m¶H«$mo BH$m°Zm°{‘³g ì¶m»¶m Úm.

B) {S>’o$Ýg gm¶§{Q>{’$H$ BÝ’$m°‘}eZ åhUOo H$m¶?

’$) g§ajU AW©g§H$ënmMo ñdê$n gm§Jm.

à.à.à.à.à.2) {Q>nm {bhm. (H$moUVohr Mma) [4×5=20]

A) ’$m¶ZmpÝeAb A°S>ìhm¶Pa

~) {S>’o$Ýg AH$mC§Q> {S>nmQ>‘|Q>

H$) {S>’o$Ýg gm¶Ýg bm¶~«ar

S>) ‘m¶H«$mo BH$m°Zm°{‘³g

B>) {S>’o$Ýg S>m°³¶w‘|Q>oeZ g|Q>a
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à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr Mma àý gmoS>dm. [4×5=20]

A) g§ajUmMm Am{W©H$ {gÕm§V gm§Jm.

~) ^maVmÀ¶m g‘wÐmda AmYm[aV ~°{bpñQ>H$ {‘gmBb {S>’o$Ýg B§Q>agoßQ>aMo ñnï>rH$aU Úm.

H$) g§ajU Am{U {dH$mg ñnï> H$am.

S>) ’$m¶ZmpÝe¶b {gñQ>r‘Mr ‘ybVËdo gm§Jm.

B) {S>’o$Ýg ~OoQ> AbmoHo$eZ ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr XmoZ àý gmoS>dm. [2×10=20]

A) ^maVmÀ¶m {WEQ>a H$‘m§S>²gMr ŷ{‘H$m Vnerbdma ñnï> H$am.

~) {S>’o$Ýg AH$mC§Q> {S>nmQ>©‘|Q>Mr ŷ{‘H$m g{dñVa ñnï> H$am.

H$) g§ajU n§Mdm{f©H$ ¶moOZoMo ñdê$n g{dñVa ñnï> H$am.


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Q1) A) Fill in the Blank (Attempt any 5 out of 7) [5]
i) Under which type of underwriting several conditions are to be

followed.
a) Non-medical underwriting
b) Medical Underwriting
c) Field Underwriting
d) Financial Underwriting

ii) Increase in Foreign direct investment (FDI) can help _______.
a) Circulation of money b) Unemployment
c) Supply d) Employment

iii) Which of the following statements is incorrect in respect of
brokers?
a) Brokers require to undergo training before being licensed
b) Brokers are appointed by insured to take care of their interests
c) Brokers have to pass examinations before being licensed
d) Brokers should be registered companies of firms

iv) The IRDA stands for
a) Insurance Regulatory and Development Activity
b) Insurance Reconstruction and Development Activity
c) Insurance Regulatory and Development Authority
d) Insurance Regulatory and Department Activity

v) ________ are the middlemen in the healthcare delivery chain in
insurance sector.
a) Surveyors b) Loss assessors
c) Brokers d) Third Party Administrator

P.T.O.
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vi) Risk management is concerned with ________.
a) Arranging and controlling of activities
b) Planning, arranging and controlling of activities
c) Managing of funds
d) Controlling

vii) Financial underwriting is done to evaluate _______.
a) The Possibility of Moral Hazard
b) The probability of the policy lapsing in future
c) Both laps and Moral Hazard probabilities
d) None of these

B) Match the following. [5]
i) Risk Management - a) Provide information to

members of public
ii) Risk retention - b) Transferring rights to the

assignee
iii) Right to Information Act - c) Risk Analysis and Control
iv) Assignment of life policy - d) Researching the medical

history
v) Medical Examiner - e) Accepting and agreeing to

finance the loss oneself

Q2) Write short notes (any 2 out of 4) [10]
a) Risk Management.
b) Underwriting practices in non medical insurance.
c) Role of Corporate Agent.
d) Foreign Direct Investment.

Q3) a) Explain different mind sets of insurance customers. [8]
b) Explain the objectives and principles of underwriting. [7]

Q4) a) State functions of IRDA. [8]
b) Discuss on Privatisation of Insurance Sector in India. [7]





3[6142]-528

Total No. of Questions : 4]

[6142]-528
T.Y.B.Com.

356 (K) : INSURANCE, TRANSPORT AND TOURISM - III
Insurance (Special Paper - I)

 (2019Pattern) (Semester - V)

(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àý gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P5908

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (7 n¡H$s H$moUVohr 5) [5]
i) H$moUË¶m àH$maÀ¶m A§S>aam¶qQ>J‘Ü¶o AZoH$ AQ>r nmië¶m nm{hOoV.

A) Zm°Z ‘o{S>H$b A§S>aam¶qQ>J ~) d¡X²¶H$s¶ A§S>aam¶qQ>J

H$) àXoe A§S>aam¶qQ>J S>) Am{W©H$ A§S>aam¶qQ>J

ii) WoQ> naH$s¶ Jw§VdUwH$sV (E’$S>rAm¶) dmT> ................. gmR>r ‘XV H$ê$ eH$Vo.

A) n¡emMo A{^gaU ~) ~oamoOJmar

H$) nwadR>m S>) amoOJma

iii) Xbmbm§À¶m ~m~VrV Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?

A) Xbmbm§Zm nadmZm {‘iÊ¶mnydu à{ejU KoUo Amdí¶H$ Amho

~) {d‘mYmaH$ Ë¶m§À¶m {hVmMr H$miOr KoÊ¶mgmR>r Xbmb {Z¶wº$ H$aVmV

H$) Xbmbm§Zm nadmZm {‘iÊ¶mnydu narjm CÎmrU© hmoUo Amdí¶H$ Amho

S>) Xbmb Zm|XUrH¥$V H§$nÝ¶m qH$dm ’$‘© AgmdoV

iv) IRDA Mm AW© Amho

A) {d‘m {Z¶m‘H$ Am{U {dH$mg {H«$¶mH$bmn

~) {d‘m nwZa©MZm Am{U {dH$mg {H«$¶mH$bmn

H$) {d‘m {Z¶m‘H$ Am{U {dH$mg àm{YH$aU

S>) {d‘m {Z¶m‘H$ Am{U {d^mJ {H«$¶mH$bmn

v) ................ {d‘m joÌmVrb hoëWHo$Aa {dVaU gmIirVrb ‘Ü¶ñW AmhoV.

A) gd}jUH$V} ~) ZwH$gmZ ‘wë¶m§H$ZH$V}

H$) Xbmb S>) V¥Vr¶ nj àemgH$
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vi) OmoIr‘ ì¶dñWmnZ ................. er g§~YrV Amho.
A) H$m‘H$mOmMr ì¶dñWm Am{U {Z¶§ÌU
~) H$m‘H$mOmMo {Z¶moOZ, ì¶dñWm Am{U {Z¶§ÌU
H$) {ZYr ì¶dñWmnZ
S>) {Z¶§ÌU R>odUo

vii) ................... Mo ‘yë¶m§H$Z H$aÊ¶mgmR>r Am{W©H$ A§S>aam¶qQ>J Ho$bo OmVo.
A) Z¡{VH$ Ymo³¶mMr e³¶Vm
~) ^{dî¶mV nm°{bgr b°ßg hmoÊ¶mMr e³¶Vm
H$) XmoÝhr b°ßg Am{U Z¡{VH$ YmoH$m g§̂ mì¶Vm
S>) ¶mn¡H$s Zmhr

~) ¶mo½¶ OmoS²>¶m Owidm. [5]
i) OmoIr‘ ì¶dñWmnZ A) gmd©O{ZH$ gXñ¶m§Zm ‘m{hVr X²¶m
ii) OmoIr‘ amIyZ R>odUo ~) {Z¶wº$ A{YH$mè¶m§Zm hñVm§V[aV

H$aUo
iii) ‘m{hVr A{YH$ma H$m¶Xm H$) OmoIr‘ {díbofU Am{U {Z¶§ÌU
iv) OrdZ YmoaUmMr {Z¶wº$s S>) d¡X²¶H$s¶ B{VhmgmMo g§emoYZ
v) d¡X²¶H$s¶ narjH$ B) pñdH$maUo Am{U ñdV… ZwH$gmZ

^anmB© XoÊ¶mg gh‘Vr XoUo

à.à.à.à.à.2) {Q>nm {bhm. (4 n¡H$s H$moUVohr 2) [10]
A) OmoIr‘ ì¶dñWmnZ
~) Zm°Z-‘o{S>H$b BÝewaÝg‘Ü¶o A§S>aamBqQ>J nÕVr
H$) H$m°nm}aoQ> EO§Q>Mr ŷ{‘H$m
S>) WoQ> naH$s¶ Jw§VdUyH$

à.à.à.à.à.3) A) {d‘m J«mhH$m§À¶m {d{dY ‘mZ{gH$VoMo ñnï>rH$aU H$am. [8]
~) A§S>aam¶qQ>JMr C{Ôï>o Am{U VÎdo ñnï> H$am. [7]

à.à.à.à.à.4) A) IRDA Mr H$m¶} ñnï> H$am. [8]

~) ^maVmVrb {d‘m joÌmÀ¶m ImOJrH$aUmda MMm© H$am. [7]


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Q1) A) Fill in the blanks: [5]

a) _____ is a systematic and disciplined approach to software
development that aims to create high-quality, reliable and maintainable
software.

i) software Engineering ii) Prototyping

iii) Concepts iv) Modelling

b) _____ is the process of defining the architecture, interfaces and
data for a system that satisfies specific requirements.

i) System development ii) System design

iii) system manufacturing iv) system control

c) _____ method seeks information from the person in written and
prescribed format.

i) Call Interview ii) Enquiry

iii) Questionnaires iv)  Communication

d) The _____ is a classical model used in system development life
cycle to create a system with a linear and sequential approach.

i) waterfall model ii) RAD model

iii) RUP model iv) Spiral model

e) McCall’s factor model classifies all software requirements into
_______ software quality factors.

i) 5 ii) 6

iii) 10 iv) 11

P.T.O.
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B) Match the following: [5]

a) Prototyping Model i) evaluate feasibility of system

b) Throwaway prototyping ii) spiral software development
methodologies

c) Software Quality Attributes iii) Prototype is built

d) Feasibility Study iv) Correctness

e) Rational Unified Process v) Rapid Prototyping

Q2) Short Notes (Any 2 out of 4): [10]

a) Types of System.

b) Qualities of System Analyst.

c) System Requirement Specification.

d) System Concepts.

Q3) a) Define System Analysis. Explain in detail Role of System Analyst [8]

b) What is Software Engineering? What is the need for software Engineering.
[7]

Q4) a) Explain in detail System Development Life Cycle. [8]

b) What is Feasibility Study? Explain Types of Feasibility Study in detail.[7]





Q1) a) Fill in the blanks : [5]

i) ________ is not a keyword in python.

a) try b) with

c) val d) raise

ii) __________  is the maximum possible length of an identifier in
python.

a) 24 characters b) 79 characters

c) 33 characters d) Can be of any length

iii) _______ is not a core data type in python.

a) Tuple b) List

c) Class d) Dictionary

iv) __________ arithmetic operator is used to display remainder.

a) + b) –

c) * d) %

v) A block of code is designed using __________.

a) Key b) Brackets

c) lndentation d) Variables
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[Total No. of Pages : 2

[6142]-530
T.Y. B.Com. (VOCATIONAL)

355VOC(A) : COMPUTER APPLICATIONS - I
(2019 Pattern) (Semester - V)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates :

1) All question are compulsory.
2) Figures to the right indicate full marks.

P-5910

SEAT No. :

P.T.O.



[6142]-530 2

B) State whether the following statement is True or False : [5]

i) Python is case sensitive language.

ii) Python is developed by Ken Thompson.

iii) Printf statement is used to display output in python.

iv) Comment in python starts with #.

v) While loop in python always ends with End loop.

Q2) Answer the following (Any 4) : [20]

a) Explain if__elsestatement in python with syntax and example.

b) Explain any five features of python.

c) Write a python program to display factorial

d) Write a python program for addition of two numbers.

e) Explain any five operators used in python of a number.

Q3) Answer the following (Any 2) : [20]

a) Explain break and continue statements in python with syntax and
example.

b) Explain application of python in detail.

c) Explain any five data types in python with syntax and example.





Q1) a) Fill in the blanks : [5]

i) Sales management and ___________ Are closely related.

a) Product knowledge b) Marketing

c) MBA Degree d) Communication

ii) Control on sales force is the prime responsibility of ___________.

a) CEO b) Cost Manager

c) Sales Manager d) Marketing Manager

iii) Most organisations used newspaper advertising to find ________.

a) Customers b) Traders

c) Competitors d) Sales Persons

iv) Following is the not part of sales management.

a) Sales Quota b) Training

c) Performance appraisal d) Accounting of inventory

v) It is basic objectives of sales management.

a) To assign duties to sales force

b) Advertise

c) Co-ordinate

d) Finance

Total No. of Questions : 4]
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b) Match the pairs : [5]

i) Process of Maintaining a) Source of recruitment

sales persons

ii) Colleges and institutes b) Ensure productivity of sales
force

iii) Sales Control c) Motivation to sales person

iv) Physical test d) Sales management

v) Recognition e) Selection process

Q2) Write short note on (any 2) : [10]

a) Importance of sales Control

b) Internal sources of recruitment

c) Methods of motivation to sales persons

d) Objectives of sales management

Q3) Answer the following (any 4) : [20]

a) Methods of training of salesman

b) Steps in sales Control

c) Need of sales planning

d) Selection process of sales person

e) Identification of salesforce

f) Role of sales manager

Q4) Answer the following (any 1) : [10]

a) State and Explain Need and importance of sales management in current
scenario.

b) What do you mean by training and motivation to sales persons? Explain
in detail methods of motivation to sales person.


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Q1) A) Choose the correct answer (Any Five) [5]
a) Unless revoked earlier, the duty imposed under section 9 shall be in

force for a period of _______ years from the date of its imposition.
i) Five ii) Seven
iii) Ten iv) Three

b) The term export with its grammatical variation & cognate expression
means _________.
i) Taking out of India to a place outside India
ii) Supply beyond territorial water
iii) Supply of goods to a recipient located outside India
iv) None of the above

b) The process of export is said to be completed when the goods
________.
i) Crosses the Indian Port
ii) Crosses the Indian Territorial water
iii) Crosses the Indian Customs water
iv) Reached the destination port

d) ______ Percent is the maximum rate of additional duty.
i) 12 per cent ii) 10 per cent
iii) 4 per cent iv) 14 per cent

e) The term “Import” with its grammatical variation and cognate
expression means __________.
i) Purchase from foreign country
ii) Supplier is located outside India
iii) Bringing into India from a place within India
iv) Bringing into India from a place outside India

P.T.O.



2[6154]-383[6142]-532

f) Territorial water of India extends up to _________.
i) 10 nautical miles
ii) 12 nautical miles into the sea from the appropriate base line
iii) 16 nautical miles into the sea from the appropriate base line
iv) 28 nautical miles

B) State whether the following statement is TRUE or FALSE [5]
a) The Central Government cannot impose Safeguard duty to domestic

industry.
b) The relevant date for duty payable on pilfered goods is the date of

filing of Import General Manifest or Report.
c) Anti-dumping action cannot be taken only when there is an Indian

industry which produces “like articles” when compared to the
allegedly dumped imported goods.

d) Revenue duty is those which are levied for the purpose of raising
customs revenue.

e) The protective duty shall be effective only up to and inclusive of
the date if any, specified in the First Schedule.

Q2) Write Short Notes (Any Two) [10]
a) Transactional Value
b) Dutiable Goods
c) Person-in-charge
d) Export procedure under Customs

Q3) Answer the following questions (Any Four) [20]
a) Explain the term Prohibited Goods
b) What is Anti-Dumping Duty?
c) Explain the term ‘Taxable event’.
d) What are the different provisions regulating baggage?
e) How to differ Indian territorial water and Indian customs water?
f) Explain the Constitutional Provisions of customs law.

Q4) Answer any One of the following questions [10]
a) Explain the various provisions regarding valuation of goods under

customs.
b) What are the different types of duties under customs?


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Q1) A) Fill in the blanks [5]
a) What is a CMS in web design?

i) Content Management System

ii) Creative Management System

iii) Content Mixing System

iv) Creative Managerial System

b) Dynamic Web Pages are created using_______

i) HTML ii) PHP

iii) C iv) C++

c)  __________ web pages are used where the information is changed
frequently, or generated as per request.

i) Dynamic ii) Static

iii) Demand iv) Overview

d) Which of the following is not a phase of web site development?

i) Coding ii) Design

iii) Linking iv) Testing

e) Which program is used by web clients to view the web pages?
i) Web browser ii) Web server

iii) Search engine iv) E-mail

B) Match the following. [5]
a) Outline i) E-commerce Website

b) Ask ii) URL

c) Goodle Chrome iii) Search Engine

d) Flipkart iv) Web Browser

e) Domain Name System v) Phase in planning website

P.T.O.
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Q2) Write short note on ( any 2) [10]

a) Web design pyramid.

b) Domain Name system.

c) Web hosting.

Q3) Answer the following ( any 4) [20]

a) What is a web authoring tool? Explain.

b) What is Hyperlink diagram? Explain.

c) Explain Web development process model.

d) Explain components of Web Application Architecture.

e) How site navigation affects the web site design?

Q4) Answer the following (Any one) [10]

a) Explain different types of website with example.

b) What is search engine? How to register website on search engine? Explain.


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Q1) A) Fill in the blanks. [5]
a) It is a systematic study of problems related to marketing of goods

and services.
i) product knowledge ii) Sales Management
iii) Marketing Research iv) Basic research

b) Effective marketing research process includes________
i) Developing Plan ii) Cost analysis
iii) Sales routine iv) Marketing management

c) Cultural values in the country states_______
i) Political environment ii) Cultural environment
iii) Competitors iv) Legal policies

d) It is marketing of organisation to develop overall image.
i) Green marketing ii) Niche Marketing
iii) Blue marketing iv) Affiliate Marketing

e) It is basic advantage of digital marketing is_____
i) Lower Cost ii) Global reach
iii) Local market iv) District wholesaler

B) Match the pairs. [5]
a) Digital marketing i) Promotion of product
b) Green marketing ii) wide coverage
c) Affiliate marketing iii) Environment Friendly products
d) Marketing environment iv) Establishing connection through

blogs
e) Promotion manager v) Economical and political factors

P.T.O.
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Q2) Write short note on ( any 2) [10]

a) Affiliate marketing

b) Functions of Promotional Manager

c) Role of Product manager

d) Importance of Green marketing

Q3) Answer the following ( any 4) [20]

a) Importance of marketing research.

b) Marketing: good career option.

c) Role of Market research Manager.

d) External Marketing Environment.

e) Need of Digital Marketing.

f) Techniques of marketing research.

Q4) Answer the following (any 1) [10]

a) State and explain objectives and significance of Marketing Research.

b) Write a detail note on recent trends in marketing.





Q1) A) Choose the correct answer (Any Five) [5]

i) Entrepreneurship is a creative activity - Said by_________

a) Frederick Harbison b) B. F. Hoselitz

c) B. Higgins d) Joseph

ii) An individual who initiates, creates and manages a new business
can be called ________.

a) A leader b) A professional

c) A manager d) An entrepreneur

iii) _______ type of entrepreneurs utilizes a chance to introduce a new
technique or new product.

a) Innovative entrepreneur b) Instigated entrepreneur

c) Initiative entrepreneur d) Fabian entrepreneur

iv) ________applied the word entrepreneur to business for the first
time.

a) Robert Owen b) Joseph Schumpeter

c) Richard Cantillon d) Max Weber
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v) DIC stands for _________.

a) Disassembled Industries Center

b) District Industries Collaboration

c) District Industries Center

d) Developing Industries Center

vi) An entrepreneur who owns more than one business at a time is
called _________

a) An intrapreneur b) A corporate enterpreneur

c) A portfolio entrepreneur d) None of the above

B) State whether the following statement is TRUE or FALSE. [5]

i) Individual Entrepreneurs and Institutional Entrepreneurs are same.

ii) Entrepreneurs are Risk Bearers.

iii) Trading Entrepreneurs are the entrepreneurs who are found in the
field of small trading and manufacturing concerns.

iv) Entrepreneurship involves mobilizing the resources & combining
them to initiate change in production.

v) Self-Help Groups are the informal associations of people who
choose to come together to find ways to improve their living
condition.

Q2) Write Short Notes (Any Two) : [10]
a) Functions of DIC

b) Benefits of Self-help group.

c) Need of Entrepreneurship

d) National Entrepreneurship Development Board

Q3) Answer the following questions (Any Four) : [20]
a) What are the fhnctions of Pollution Control Board?

b) Explain the scheme offered by MIDC.

c) How the commercial banks help entrepreneurs by granting credit?
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d) Which are the aspects of technical feasibility of a project?

e) Define the term ‘entrepreneur’ and list out the functions of entrepreneurs.

f) What is Idea Generation? List out the various sources of idea to an
entrepreneur.

Q4) Answer Any One of the following questions. [10]

a) Discuss the role of Commercial banks in entrepreneurship development.

b) What are the functions of National Institutes of Entrepreneurship and
Small Business Development (NIESBUD)?


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